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1. 1- The direction of induced e-m.fin a circuit is in
accordance with conservation of

momentum ,‘)’"';f' (D) energy ./ (C)

Ut L P e § HILALS ey b
?4"_ (3)’:‘ (3’(5'4_(,

charge &k (B) JL(A)

mass

2 - Two small charged sphere are seperated by 2mm. Which J:.-uy " lfb(/ Iy 2mm 'S ¥ mb A._.P’ 3
of the following would produce the greatest attractive force? “Lf o Jos J u"'ruL/ & it L L o 51 uf &=

~-1q and -4q
+2q and -2q

-4q »' -1q (B)
-2q »! +2q (D)
3 - The number of neutrons in tritium (?H) is

3 (D) 2 (C)

4 - Isotopes are atoms of same eiement with different
s J 7;)/ (B)
JU JL‘! (D)

number of protons

atomic mass

5 - Which form of energy is sound?
chemical &< (D)

6 - Typical value of the voltage and cur

thermionic emission from tung

6V « 3A (D 12V« 3A(C)

7 - Which is the most suitable’means of reliable continuou
£
communication between an orbiting satellite and Ea?ﬁ

sk (B
2 &8 (B

8 - If we double both the current and the voltage in g”‘

radiowaves

any light wave Jjs

circuit while keeping its resistance constant, thg power
halves J;b ” 7‘“} (B)
quadruples Jc_,lg;? Ui?
9 - The output of a two-input NOR gate is '1’ vhen
B=1A=1(D) B~£0 <A=0 (C)

10 -

In a vacuum all electromagnetic waveé have the same
wavelength g?@;f, (D) ampfftude 3245 (C)
11 - The index of refraction depends g¢n
\ 3 o
the speed of light 4 4» § & (B)
the object distance ¢ b L ¢~ (D)
12 - Fax machine is aiso called

telephone u;’g}f (D) telecom (de (C)
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& s J;F/%L.n /..'b é: -.-v‘:b" {,; bﬁu ; /T
& @\ ber of electrons i J/ﬁ/‘ﬁf (A)

/ 12V « 0.3A(B)

+1q and y4q
+2q and’+2q

+4q 4 +1g (A)
+2q 4 +2q (C)

7/"\4;»& Sove ot (On) @
k%o(

) 0 (A)

atomic number

A (©)

¥ Se. (5§ G ksl
mecfanical J‘/J (B) electrical &4 (A)
/ 2l 5;;2’.& S S e sl ki
/ u.?(}%dq’ﬂﬁu’!ﬁ(;s‘/’/
6V « 0.3A (A)
2 ool st ol W £ e ol
fe b u.f;iu Klu’“cgf

J{‘»/..Cl (A)
ifs X34 (C)
sl S e 22 ..‘/gru"fl (‘7//[
JJQ_‘ ;q_')/(l}é) fu;u é'}u

remains unchanged £« % J&J/ S A

microwaves

sound waves

doubles Sl n i (€

g B s T it Lt 2ol o
B=1 « A=0 (B) B=0.A=1(A)
g G 0 ks

frequency %/ (B) speed 4+ (A)

Ve Lr/gfuﬂ(u"’//,.,;lf,u
the focal length ¢ #2U% (A)
the image distance 4 6 £ &1 (C)

radio 4. (A)

x
telefacsimile X (8)
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PHYSICS Paper: IT AUt I L JFGLE (1A 224) II g4 P

Time: 1:45 Hours  Group:I SUBJECTIVE .- dwi o by & 1455
)
Marks: 48 é /- 2Y 48: /%
Note: Section I is compulsory. Attempt any TWO (2) (2) we Jf . u-‘-'r» - -4_6111 il o 2
questions from Section II. L O 4 L =iy

Section - I Jil o
2 - Write short answers to any FIVE (5) questions.  (2x5=10) -a{,//’:.glz/"?é T )] é e J:(- 2

i- How damping progressively reduces the amplitude Tee Jf H’dj G 320 L u&’!u‘:l Ll -1
of oscillation? Explain. ol
ii - Define elastic restoring force. ' -é - /" J J»".fu% Lokl -
iii- What is meant by mechanical waves? Give one example. SEsJe fe iy Ve iy JSainKee - - i
iv- What is meant by electric field and electric intensity? el P ﬁf@f D I iy
v- If a high-voltage power line falls across your car while you KLk f{ /KJ._,TJU b é’)» J; Ll S oy
are in the car, why should S/ou not come out of the car? ‘-Uz.(«g.lg 35 Jj/:@ & /Kf..;!' Joys gy il L
vi- Which form of energy is stored in a capacitor? Y& b kil & s, (;' g uf J .7l ‘/5/ -vi
vii- State Ohm's law. Write its formula. _a et KU _2‘;'-'; Wl WIF b"ﬁa! - vil
viii - What is the difference between a cell and a battery? <€/V© B/ SRl T - viid

3 - Write short answers to any FIVE (5) questions.  (2x5=10) &=y a@iﬁﬁ?éaﬁlr (5) é‘t‘ & Jf— 3
i- How can some whales communicate hundreds kilometers away. 2 % s G‘ifdlﬂ flé? jjﬁ;‘u;szdfg ,,{ -1
ii- Why the voice of women is more shrill than that of men? @c‘; (3!4' u[.{:& wlie B3l Ju,:/ #30 J.u?n’ -1

% Lt Tl M -
v rLELy
e sp Ve ndy -iv

iii- What do you know about the term intensity level o@
S
<O

OM memories? S Jp S s -y

sound. Write down its unit.

iv- What is meant by Super Computer?

v - What is difference between R

vi- Whatis fax machine? fe. tju.‘.“’u‘g -vi
vii- Find the number of protons and neutrons in nuclide, e Wb 0X wow Fug i
defined by '3 X 7 L e n ki
viii - Write down any two characteristics of gamma (y) rays. ; 2 .:,L;or”' iy JJ/ J (Y) v -viii
4 - Write short answers to any FIVE (5) questions.  (2x5=10) -é{]’.@y!z/ﬂd: w Ul (B) é& e J/- 4
i- Define concave mirror by drawing its diagram. _?;f -/ /‘7/ b ‘_}é J //,rg/ -1
ii- How light pipe is useful in our daily life? Se 42046 cﬁfu’: di’j ofi Fh A -
iii - What is refractive index? Write down its formula. & g Ky e tn L/ J»‘l‘l :5'5/3 - 111
iv- Define mutual induction by drawing its diagram. S e P S S - iv
v- Name any two devices in which relay is used. —e b JE K Zf.‘f(t L alfsedd v
vi- Define NOR gate. Make its truth table. ek Farko g S el v
vii - What is analogue electronics? Give one example. , L& Je e &e Y u’g/‘al J’uw -vii

viii - NAND gate is the reciprocal of AND gate. Explain. wéc.vu:; -l 2 K:/ffc;l cedbe -viit

A13)
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Section - II r.u.b

Note: Attempt any TWO (2) questions.
b - (a) Prove that motion of a simple pendulum is simple
harmonig motion.
(b) Two charges repel each other with a force of 0.1N
when they are 5cm apart. Find the force between

the same charges when they are 2cm apart.

6 - (a) What is meant by half-life of radioactive element?
Explain with the help of graph.
(b) A doctor counts 72 heart beats in 1 minute.
Calculate the frequency and period of heart beats.
7 - (a) What is simple microscope and derive the fomula of
magnifying power with diagram.
(b) A transformer is needed to convert a mains 240V
supply into a 12V supply. If there are 2000 turns on

the primary coil, then find the number of turns on

the secondary coil.
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1. 1- The relation between v, fand A of a wave is
v=MAf (D) =1 ()

2 - For a normal person, audible frequency range for
sound wave lies between

30 Hz - 30 kHz (D) 25 Hz - 25 kHz (C)

3 - Which is an example of longitudinal wave?

water wave s /s (D) radio wave s ¢4 (C)

4 - If aray of light in glass is incident on an air surface
at an angle greater than the critical angle, the ray will
reflect only &% i~ (B)
diffract only .‘/..rjﬁ i/ (D)

5 - Capacitance is defined as

V/Q (D)

in a parallel arrangement will be
12Q2 (D)

7 - Which device is practical appli mutual induction?

transfermer /417 (B)

solenoid  ¥0d» (D)

8 - The logical operation performed by this gate is ‘:_———DC’"
X
e

OR .T (D) NAND 4z (C)
9- If X=A-B,thenXis'1'when,
A=1,B=1(D) A=0,B=1(C)

10 - What does the term e-mail stand for ?

electronic mail  J% 6291 (B)
external mail <A1 (D)

11 - What happens to the atomic number of an element fwhich

emits one alpha particle?
stays the same {oz ¥/ d/ (B)

decreasesby 1 §Z s LI (D
12 - What is the S.I unit of radio activity?
Ba (D) W (C)
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20 Hz — 20 kHz (B)

light wave 4 Jugu (B
Sefiprde Clime §Se ubS -4

‘L.JNU”V;)LJ%M:I 'Ef/’ru'”u:Jg,_.Q -1.1
fA=v (B) vi=X (A)

c"_.u,wd/u"';g/.J:&'fL’Nl’ Jfﬁ'énf/dﬁ(k.{f -2

10 Hz - 10 kHz (A)
e Jedn il -3

sound wave g £3iL- (A)

»
: "fxﬁl_b,:,,.j:il KU

Jﬁ s Inl¥ e
re ra@@, 5N (A)
partially refract and part) l)@ ect .u?“/}: 2 af): if (C)

) & de S b S A -5
/Q/V (B) vC (A
Fudipnet Lind e toa &by -6
U e Liﬁc_ﬂ,‘.}’gﬁf.«-z‘:. 8C s

¥ w ‘5(1)5 b/(f‘///
40 (B) 2Q (A

e 06 e £ Pk S sl -7
electric motor ;,»J/’-?f (A)

1 (©)

te. bye S Jfgﬂﬁu e oSUl -8

ammeter

NOR .t (B) AND %l (A)
ﬁr(fﬂ{'1'd£X]ﬁX=A-Bff -9
A=0,B=0(B) A=1 B=0(A)

e FKE S 10
emergency mail 74 Jw AL (A)
extra mail J-"l//{f (C)

Je b/ Tk Lo i wofi i - 11
Wey I AL L
increases by 1 €4k o% LI (A)
decreasesby2 FZi b fn (©)

e ey SIHEAIL -12
V (B) rem (A)



PHYSICS raper: II
Time: 1:45 Hours Group:II SUBJECTIVE
Marks: 48

Note: Section I is compulsory. Attempt any TWO (2)

2 - Write short answers to any FIVE (5) questions.

1=
1 -
1i1 -

v -

vi -

vii -

viii -

3 - Write short answers to any FIVE (5) questions.  (2x5= 1@-%9/}-:“?/3&\-11“}’ (5) é = Jf 3

i=

11 -

11l -

v -
V-
vi-
Vil -

Viii -

4 - Write short answers to any FIVE (5) questions.

i -
il -
iii -

A

Vil -

Vil -

viii -

questions from Section IL

Section - I d;l

Define restoring force and write down its formula.
What is the difference between amplitude and displacement.

Prove that v =f)

What is the function of electroscope?

If the distance between the two charges is doubled, what
will be the effect on Coulomb's force?

Write down two properties of electric field lines of force.

Does a fuse in a circuit, control the potential difference or
the current. Explain.

Explain Ohm's law.

Define pitch of sound. Give one example.

AU T LAJFGEE (1A 224)

G124
(2) e J:(a. (9 o _t;.djﬂdil..b Ly
o Loy
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& sl a ) S s b,
e 0F VUt e 32
v=fA & b

e u’ékf Kg/’ﬁﬁ/{gl
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ey 2y
e s § U ST A S
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What is the effect of amplitude of vibrating body on % e tm Yy BEANS I ST P ()-_.Eg/u

loudness of sound?

‘E 4Oms"1

Calculate the frequency of sound waves of

B

and wavelength 0.5m.

Write down any two advanta
How softwares are helpful in computers?

How photophone is better than a common phone?
Define atomic number and give one example.

What is the difference between natural and artificial radioactivity?
(2x5=10)
Explain the refractive index of a material.

What do you know about light pipe?

Explain the conditions for total internal reflection.

Can a transformer operate on direct current? Write down

its principle.

State Lenz's law.

Explain two universal logic gates.

How electrons are deflected to specific position on a

television screen?

What is NAND gate? Draw its truth table and symbol.
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-1
- 1
- 1i1

-1V

-vi

- Vil

- viii

-1

- i

- 11

- Vil

ez Ly 5) &L O -4

8 ol S UM L J/o/
b Ve &L

o o S8 PR

§ e (5 S et uhins ps i

S YL I §

..Z_/_.‘?Uu J%JUL)@"/»

J}’Jp =i J}“‘;d’/)/'al/ J}U/JJ/
ot chfﬂ

e b S FEAr e Vel

-1
-1
- 11

-1V

-Vvi

- vii

- Vil



D

Section - I1 (2 o2

)
Note: Attempt any TWO (2) questions. [/‘ U/ s —2Y 4 ..-:;QL:‘!L.:«UI:’ (2) e Jf L
5 - (a) Define simple harmonic motion. Explain with diagram  (4) & /b oS P S il () 5
that motion of simple pendulum is simple e o B v J ol H’ Xs st Ié
harmonie motion.
(b) By applying a potential difference of 10V across a (5) Ji - 10V U Jf“g SIA L )
conductor, a current of 1.5A passes through it. How much e S U in b e 2 15 A /*fjf
energy would be obtained from the current in 2 minutes? S‘J 7w o G U‘»‘" M G
6 - (2) Internet is a useful source of khowledge and (4) N e QP4 Sl sl ,‘V () g
information. Explain. -’Z;f =2 les
(b) A sound wave has a frequency of 2kHz and (5) 2kHz ¢ i‘z‘i’: a5k S s 3 (o)
wavelength 35cm. How long will it take to L SE Lol § 1.5Km ! Ut 35cm sl
travel 1.5Km? : O st Ko 2 T EL
7 = (a) Explain simple microscope with the help of diagram.  (4) 77-25"::— ud Faols f ?,P,/,C’L wl () g
How can you find its magnifying power? ' = J (}‘”c,f sl & Gu"? J U
(b) A transformer is needed to convert a mains 240V (6) v uU-!12 OV LI il T (L)
supply into a 12V supply. If there are 2000 turns on Ju’/g s Ju‘! /74, s /Jgf
the primary coil, then find the number of turns on the { AT A JdeJ,‘c? Ju’l # % 2000 »ixd
secondary coil. %{& &L i
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PHYSICS Paper: II (% ¥ 11 ol SFLEE) 15t A 223-(IV)  II 54
Time: 15 Minutes Group:I OBJECTIVE ... U'.S/" ‘5“’/ 4 & 15
Marks: 12 &U/ « I 03

Code: 7477
L AR ey e S8 sl &£ Lot -1 P ol d‘r/:{ Lébl L}b?

Kx J!“; JAr -y u)a U :«/}"Jr'_/r,(l./r‘.bb/’lgﬁ_.//s

1. 1- Ifthe turn ratio of a transformer is 10, then

12 2
-u__:ié,:D»lC‘B«A.;«Uﬁ'Jjgﬁle/z rd

SUssty pl e L S e uf.-.l,/a I o2t Sl Jde
3210 :%Juué ol 1.

i Vs =V, x10 (D) Ng=10xN, (c) N, =1Eop_ ®) I =10x1, (A)
2 - Speed of sound in solid is comparatively faster than gases & O P ;Z"/‘{_U» Lol it -9
eight times T (D)  two times 15 (C) fifteen times & wi B)  fivetimes 78y (a)
3 - Capacitance is defined as & (j‘c b J Uy _41/7 J J‘S d‘!{ -3
\% Q
= V «© = (B VC (A
Q (D) QV (© N (B) (A)

4 - Charge on alpha particle is & b Cile ¢ Jfﬂg Weo-4

2e (A)
et e BNL sl FPew -5

nuclear fission u”/’-’fz (A)

burning of gases . (f &L ~(©)
FLSISAL Ltk 6

NOTgate &St (O)  ORgate «f'7 (C) AND gaid. 2 % (B) NANDgate +f%s ()
7 - The term e-mail stands for - 5 @ P Y SN

electronic mail J& gﬂé?@ © emergency mail %4 (A)
external mail & @D)v extra mail 1241 (¢)

8- The relation between velocity, frequer%a)vave length < o e £ 2%, 0 54 L SN
0

of a wave is @
A O\

AorBis'0' A=0|B=0 (B)

5e (D) 4e (C) 3e (B)
5- Release of energy by the Sun is due to

nuclear fusion ié 4 (B)
chemical reaction .3 &L 61, Sl (D)

6 - To make burglar alaram, we use

vA=f (C) fA=v (8) vi=d (A)

Ang1UdxiaB=xS g
AandBare't' A=1.B=1 (a)

Ais"'and Bis'0' A=1 .f B=0 (D) Ais'0'andBis'1' A=0 .l B=1 (©)

10- The type of image formed by a convex lens on a screen is & bl 51 J (;' u’-{ qj/c /.{ u’-ri( -10
inverted and virtual 254§ (B) inverted and real £, i §1 (A)
upright and virtual J;;J; s Y4 (D) upright and real (£, sl U (C)
11-

How does sound travel from its source to your ear? T G‘J‘cf FoTe i g g £5 -11

by changes in air pressure < .o (§ C}, XL in (A)
by vibrations in wires or strings < u’”w": J sl | st (B)
by electromagnstic waves ey M7 _@_C;}.Q. (C)
by infrared waves s i kAP (D)

W A GL e gy 12A -12
npg 28R Gt E ey

60 W (D) 4 30W (C) 14.5W (B) 48 W (A)
114-(IV)-15t A 223-95000

12 - What is the power rating of a lamp connected to a

12 V source when it carries 2.5 A?
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Time: 1:45 Hours  Group:] SUBJECTIVE ... e ol & 148
Marks: 48 Gy 1722 a8:/%

Note: Section I is compulsory. Attempt any TWO (2)
questions from Section IL 7 > AR & el

2 - Write short answers to any FIVE (5) questions.

i

iv -

V-
vi -
vii -

T

Vil -

4 - Write short answers to any FIVE (5) questions.

i-
-

iii -

Section-1 Jil .o

Why in Ia_arge shopping centres convex mirrors are used ' iy Jff 4’. L ol L szg‘u-f :J/‘-:'b;é By
for security purposes? St b L Jst
Draw a ray diagram of image formation by a com‘pound ~&lx r'/&lk.z J Lok J @"! = ..,P,f’u:sg.g
microscope.

Why do we use refracting telescope with large objective ..;ﬁf B s A FL B 7
lens of large focal length? fp &S e o
A ray of light enters from air into glass. The angle of incidence - an J"'b ML 5‘; u’tf e e J fu
is 30 - If the refractive index of glass is 1.52, then find the Y ¥ B 230 a1 S
angle of refraction. 2L [ Sy ST et T 152
Define amplitude and frequency. 24 e HE S 4
Define simp!e‘ pendulum. f - }"' J /»‘g -4

el oy S A B
NPT vef.ﬂj’JJ(OR) A

Define spring constant and write down its forfhula.

Define OR gate and write down its teuth table ’4,
3 = Write short answers to any FIVE (b) questions. (2x6= 10) %&Uzﬁﬁuﬂb’ (5) 54& & Jf 3

Define ICT. s Al er
What is the differente between RAM and ROM nfemories? % ?q_ S/ Bt (ROM) (322 (RAM) s
- LPL(/U,»Q Jfgl & Z/Lp i‘gﬂl K.J)\:

Draw electric field unes due to positive and negative

Define capacitance and give its SI unit. @\
A OV

What do you know about zero-bel? U Ve & Fops T
Calculate the frequency of a soundwave of speed 340 ms™ M’J 3(.45 zf p‘”u‘*f }Jga ki
340 ms™ and wave length 05" | -¢-05m ié";': 4l
Define loudness. On what factors does the loudness of fe bty Jlfu(;uf vor 28 w8 U

sound depend?

& e Ui &y las

Define internet and _wﬁte down its two services.

State the Ohm law and write down its mathematical form. e dw J J Z‘: Wk UIb KA "l
Define resistance and its unit. - _e,{ _é,!ﬂ J <y L J 4l u’%
State the rule by which the direction of lines of force of A Lty & SE i My /8 s i
magﬁétlb field around a straight current carrying conductor -2{ ke ¥ LS rﬁ’@-‘J Jo ST

¢an be determined.

(213

oy SIS st

(2) e Jfr_- u‘:r».b -;-d)ﬂd?'.b wWd

(2x6=10) Z iz P Loty (6) &} e -2

-1

-1v

- vii

-1
-
-iv
-V

-vi

pes:

@x6=10) -2 ehz Loty (5) bl -4

-1
-i



G uf 123
iv- What is a transformer? On which principle it works?
v- What do you mean by the term radio activity?
vi- Fine the resistance if V=6v and I=2A
vii- Draw a circuit diagram of three resistances R1, R2andR3
connected in parallel combination.

viii - Can a current flow in a circuit without potential difference?

e S U S S W) i
?4‘..)l/§fc.-bﬂﬁ4";&}glgéz -V

1=2A s V=bv S & o 70 -vi
oS e d £ UFuRsaR1R2 il

b
(AL I S oS S Y i
"‘:‘;,CC

Section - 11 (2 -

Note: Attempt any TWO (2) questions.

5 - (a) What is ripple tank? Write down the construction (4)

and working of ripple tank with diagram.

(b) An object 30 cm tall is located 10.5 cm from a (5)

~ concave mirror with focal length 16 cm. Where is

the image located?

6 - () Describe an activity to demonstrate the:phenomenon ()

of echo,

(b) Two point charges q; =10pcandq, = Suc (6)

are placed at a distance of 150 cm. What will be
the coulomb's force between them? Also find the

direction of the force.

7 - (a) Define the term specific resistance. Discuss diﬁereu%(ﬁ?

factors which affect the resistance of condu’ciou@
(b) Cobalt-60 is a radioactive element wit?
of 5.25 years. What fraction of {h

will be Ieft after 26 years?

114-1St A 223-95000
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PHYSICS Paper: II (b Ul Ileuy JALEE) 1stA223 - () T .44
Time: 16 Minutes  Group:II OBJECTIVE ) e Y’/ |92 o 16 1
Marks: 12 Code: 1474 (e = 223 12 :%

f—-.ali’..aw::_ufu:/béfé—.-d.lfﬁdir/-/‘é(dli -ut:f:r:Dz:lC B« A»..«U?.«ﬁ;b&dif/ 0%

K ® liuﬁu'..ur‘dIL_/J(, u(LL/.{fUJ/L‘ULJC—J 4’;.:/(.'.—(_}51,/& :(a/h,xlr‘u'lb‘

10 1'

Compound used for diagnosis of brain tumor is o b Jo1 I3 £ 5t Sormd e 1.1
) N-152 (D) H-3 (C) 1-131 (B) P-32 (A)
9. The focal length is related to the radius of curvature by o Poen £ o/ ST RLnt S -2
Ré (©) RS © R4 (B) R4 (A)
3 - The time interval after which the voltage repeats ra tlkfeq_ of it u;c'" g 5» WL S e -3
its values is known as
wave length  #%4 (B) frquency U6/ (A)
displacement ¥} (D) time period 44 (t (C)
4- Isotopes are atoms of same element with different P L AL ws G s AT -4
& (3}4 il J l¢ b
atomic number AL (B) atomic mass  Jbwk b (A)
number of electrons e /,/,d, (D) number of protons s J :5;54 ()
f - Particles emitted from hot cathode surface are O Y- 5 ¢ 3 rf 2 }‘?/g &b -5
negative ions )'-'/T,&'g' (B) positive ions T skiy (A)
electrons 75291 (D) protons /':7,-/ (C
6- If we double both the current and the voltage in a e @ ’ Vi Suke Lm0 -8
circuit while keeping its resistance constant, the power = 4 g S U G ool
halves < Blg s ad (B) {\l@’nams unchanged t% u” u/ df v (A)
quadruples & Jo e (D %ﬁ doubles dbn /5 (C)
7- The output of a NAND gate is '0" when é S J 270"y 3T J J (NAND) ¢ -7
.both of its inputs are "1’ B— both of its inputs are '0' B=0 ./ A=0 (A)
any of its input is '1' 6@ any of its input Is ‘0" B=0 |, A=0 (C)
8- The loundness of a sound is m elated to & bn AL 3% ¥ U550 J L -8
amplitude 3¢ ¢+ (D). “wavelength A (©) period 1s (B)  frequency gHS A
9- Number of input/inp T operation is/are I Bmf:‘ru; / q..én <! J w‘é;f (NOTHet -9
3 (©) 2 (B) T (A
10- An AC generator works on the principie of & 6/ (¢ dfl/'/’ Getukt -10
electrostatic induction uﬁgl’! J.Eh/’g' (B) electromagnetic induction u'( &l ...@‘;' ,ﬂl (A)
none of these &'/ U4 1! (D) bothA&B UM B 4l A (C)
11 - Which of the following is an example of simple Jf Jr‘/{, J‘f Je Sl uf & h J_J.,w:w -11
harmonic motion? e 3 ok /
the motion of simple pendulum Jf d/ H,,‘g.g b (A)
the motion of ceiling fan grd f Ly ed (B)
the spinning of the earth on its axes Jr';f bl /gl g d’ ) (C)
, the motion of a bouncing ball on a floor S §af dn ¥ { S D)
12- Image formed by a camera is 4.0:4 uq—u’Cuut./ -12

real, inverted and diminished (1€ et ol e (A)

virtual. upright and diminished U+ et sl Sz (B)
virtual, upright and magnified (% e Sl Sgn (©)
real, inverted and magnified S et ol (e ;)5; (D)
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IYSICS - Paper: 1T (% U IT 2} JFYILE) 15t A 223 Il 24 %,
me: 1:45 Hours Group:II SUBJECTIVE - Jl‘ﬁl .,,:f s A 1:45 5
arks: 48 Croy <223 48:%4

¢: Section I is compulsory. Attempt any TWO (2)

questions from Section IL

(2) ve I e Lmo i dile o
-’4‘7..-4»2 L =iy

Section - I J:’ -

'Write short answers to any FIVE (B) questions.
- Define simple harmonic motion.

- If the length of a simple pendulum is doubled,

~ what will be the change in its time period?

- What is meant by farsightedness?

.. Determine the power of lens, if its focal length is 10 m.

.. State Snell's law and write down its formula.

i- Draw the symbol of NOT gate and also write down its

truth table.
i- NAND gate is the reciprocal of AND gate. Explain.

ii- What is meant by logic variables?

- Write short answers to any FIVE (5) questibns.

i- What are the ranges of audible frequency of sound?

ii- Calculate the frequency of a sound wave of speed
340ms ' and wavelength 0.5 m.
4i- Write down two uses of fax machine.

iv- Whatis cell phone?

N

v- Write down any two services of internet.
How can we identify conductors and i
by an electroscope?
vii- Exptain quality of sound.
iii - What is flash drive?
1 - Write short answers to any FIVE (5) questions.
i- Whatis the difference between electric current and
conventional current?
ii- Draw the circuit diagram of three resistors which are
connected in parallel.
State Lenz' law.

Can a transformer operator on direct current?

(&g

i

(2x5 10) -ZEifeizBLlomr B) oL - 2

2 Y I 15, 0 10 A
it Sl ha o
ACTM PG IY
 erVe B i
s §uintom S2FIEA LS
T - A 7 4
e SRS JeS ot -vi
e KL (ANDYI « & (NAND)Jé - vii
‘ _’a{.:-.ow;
e e e FSp LU -viil

@) by d/-3

(2 x5=10) -2{;/’
Ju‘”f;J;kaJu -

%{X& ki 2 Z:rrl”d"';/(fu’}ul/ -1
Q/gﬁ %05 m#2ys 340ms”
el e L u.‘?gfg - iii
e b I f
& el s U’J)/Ja.;;’jv'l‘ v
3 3 e sa § s 7
E s
e el (WS e i
e dn s i
@x5=10) -Z iz Lty (6) by O -4
LE G I S i

rlfys L JJ/"JJ LLine F_{,_)J’l/:f - i

P
S LA i
Y. CC/(K{ S p Y i



Vi -

Vil -

Viii -

-2.

07 b}! Ar-*}e-“?/g

Define kilowatt hour. How it is determined?

Complete the nuclear reaction

25 140 I
U — Xe+? +2n+ Energy
92, 54 0

Find the number of protons and neutrons

13
in the nuclide defined by 6X .

Define isotpe. Write down the isotpe of hydrogen (H).

S E S S neE S an¥
f-:yfﬂfdz/%ﬁ -V
235 140

1
U — Xe+? +2n+ Energy
92 54 0

13 ;

U & b e 6X et g T
-ér}”)'ﬂ S sk }3;).;

AL Pty y ST i
@l L

Section - II (2 >

Note: Attempt any TWO (2) questions.

5 = (a) With the heip of diagram, describe the passage

of light through a glass prism, also define the

angle of deviation.

(b) A transverse wave produced on a spring has

a frequency of 190 Hz and travels along the
length of the spring of 90 min 0.5 s

i) What is the period of the wave?

6 - (a) Define potential difference between two poin

(b) At a particular temperature, the s

and explain it with the help of a diagram.<_ O
psound in

airis 330ms . If the wav of a note is 5 cm,

calculate the frequen e sound wave. Is this

frequency in the audible range of the human ear?

7 - (a) What is a "Relay"? Give its use and make its

tabuiated diagram.

(b) The resistance of a conductor wire is 10MQ .

If the potential difference of 100 volts is applied
across its ends, then find the value of current

passing through it in mA.

115-1St A 223-86000
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PHYSICS Paper: 11 NP AL sy U504 ) 4ia - (1Y) 24

Time: 15 Minutes  (Group:I) OBJECTIVE - 0'5/" (».r;/ll;{_) L4 15 reds
Marks: 12 Code: 7477 12 A

L g e Jumd Eoe L Jirp g J¥ Jin L EDACBAcUR R Ly ponld
_b’n/r’ng‘ﬁ u)[l. ~u/!‘p(fd’///u((«d_//!ru,/')O)LJC-—J Z,J/c;u’t//t J(o/b.ah/‘u’lk/

1.1-" = are also called gamma rays. ‘U;‘, q /r LSS 1
positrons /24 (D) protons 7tz (C) electrons 9:/".6' (B) photons Se9 (A /
2 -  To make burglar alarm, we use A &S e A /VJT/)?/ -2
NOT gate (D) OR gate (C) AND gate (B) gate (A)
3 - An electric current in conductors is due to the flowof ____ . -« o d/il/, Lo J/"dl U- )/’{ft’f -8
negative ions 7;’,',;@ (B) posifige ions )‘“’T}:):T‘ (A)

free electrons ?,-/’?UUT (D) charges 7/b %y (C)

byt JHALHE L -4

4 - The refractive index of water is

133 (D) 1.39 (C) 1.36 2.33 (A)
5- The speed of sound iniron at 25 °Cis A J;m’{ 25°C AW -6
1531mS™" (D) 3980 mS™' (C) 470045 (B) 5950 mS™' (A)

A dnPat 2 ol inddien -6
o .
<é/<4/ = p’%)

O increases < Blo ol (A)
A Q@W

decreases < o s H,

@ bxe JW1 &'/L/U’“‘u’/l.u)’ U e JJ)JM g
radiation *IS4, (B condugtion %’ (A)
by M ol KU S B -8

6 - When water waves enter the region of shallow water
their wave length.

remains same < (Y (B)

none of these U/ S ul (D)

7 - Which of the following is @ method of energy tran st

all of these /2 (D) wave motion¢/’

8 . The loudness of a sound is most clos

its
amplitude 3¢ %1 (D) £, c) - period i (B)  frequency UM (A)
9. A converging mirror with a radius of 20 £m creates a real <5730 s, . MO 20 Rh K, VGJ/VQ -9
image 30 cm from the mirror. The objgct distance wili be S R o l(()'_c;_ bl &1 U Ly dels £
+20 cm (D) +15 cm (C) +7.5cm (B) +5.0cm (A)

10 - An object gains excess negative gharge after being 2 :?g'up' e U e L?C{ (?4.,/» f(ﬂ{l - 10
rubbed against another object, Ahich is . e (}"/» .fx.(‘a_ bl 7
negatively charged el /¥ e (B) neutral J/% (A)
all of these (U, (D) positively charged el ¢ s 53¢ (C)

11 - If the current in a wire, which is placed perpendicular to J&/J__l, & & U~ 7y Jﬂ d‘jb:{’uf it v@?ﬁ =
a magnetic field increases, the magnetic force on the wire u“/;’ V@«odb L/Jf{ s ?ng 1734 S
decreases Jn ﬂ/ (B) increases J&‘/. (A)
will be zero Jn/ (D) remains the same Jﬂ u:'U_/«" (C)

12- A CD can store about MB computer data. - L:Clg o Cised VB L/SCD L 12
610 (D) 620 (C) 680 (B) 600 (A)

114-(IV)-222-101000
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PHYSICS Paper: II (o U T s JEGLLE) 222 I 34 P
Time: 1:45 Hours (Group:I) SUBJECTIVE .- Jwi (o by & 1452

IMarks: 48 Cj 4~8:u'5|.
: Secti i ) (2) »é—(jfc:.; uf(».:o -q.diﬂg);l_b by

Note: Section I is compulsory. Attempt any TWO (2)

questions from Section II. C’M _ q /-2 -go&lﬂ L =y

Section - I J:l.»
2 - Write short answers to any FIVE (5) questions. (2xb5=10) -—C{/iulv’i/‘!LuU'Y (5) é/ be df 2

1- Whatis the lmportance of circuit diagram and electric symbols? fe ol kfu()luw J/al 2l rl/U; ..J/ -
it - Define resistance and write down its unit. _ﬂ&g KUt & 4}’JJ‘/}/ -1
i - State Joule's law and write down its formula. el U/‘;G\b’g/l 2! ideu)G‘L Jzoo-ii
iv - On which principle walk through metal detectors work? Ut L/(KJZ: Jy"f L,f [Cd HFi S v
v - Whatis the shape of magnetic field produced by a coil? fe- Onr JJJ/JJJ" v@o.«l_bd, = Jlfu(‘ -y
vi - How do researchers check the action of fertilizers in plants? ‘ur 'él_a c’;/&/jb’ Ju»bfu! Und il -
vii -  What is meant by nuclear transmutation? fe iy L/c, u"f‘f ujl/',k‘fvi -V
viii - Write down general equation of gamma decay. _&¥ e J 2§ (Gamma Decay) L¢3

3 - Write short answers to any FIVE (5) questions.  (2x5=10) -2.{//; U;Z/"'}L..vﬂb’ (5) é < Gf—

i - Define loudness. On which factors does the loudness "@ v ¥ 2./ AR -
of sound depend? S
ii-  Why ultrasound is useful in medical field? é&% Yo a2 ox b,@/»:l/ ’/'! S Jg,u -
iti -  What is difference between data and mformatlon’? e S/ (fu‘" u/';\ul G -
iv- Whatis the difference between RAM and RO es’7 "c_}/'(fu‘ zs< (ROM) (97 2 (RAM) (/ Y

Yol o Sut et u s A -y
with one example. -aiyu,@u JJPVQ JJWIZ. u““/‘jl L w
IS G Sk i

viii - Define capacitance and write down its unit. Lad 2y €l 2’:,.31 A ( f“( v

v - Define Coulomb's law. Write down its for

vi - Discuss the application of static el

vii - Define pitch and quality of so

4 - Write short answers to any FIVE (5) questions. (2x5=10) -Z_f_:{f"ol..lﬁ/‘:?éczwr () é Ve Gf- 4
i- Find the time period and frequency of a simple péndulum H”" £ ,g‘fr}” GE ol b st ('L‘ K‘);,‘vg el i
g=10mS™ s LI 2 (i

edw Henp$ i & et i Lby i

1.0 meter long at the location where g =

11 -  Which type of waves requires no medium

propagation?

iii - Make a diagram for a refraction of lighf through glass block b rlfy)‘ é;:ru‘g/i/ J(}juc. ST u¥ -
and label it. -’cg‘fJf"jfu’l !
iv - What is the resolving power of an ifistrument? fely lf(c:, »g (Resolving) ..f;’lz/ J.JTJ( - v
v - What is meant by thermionic emission? e oly tfc, S J){} -V
vi- Differentiate between digital and analogue electronics. -2{ J)d: Jgf‘?' j‘l‘/.' 7l J:"f) - Vi
vii- Draw the symbol diagrams of AND gate and NAND gate. (NAND gate) &% 1l (AND gate) &%l - vii
ek S
viii - A wave moves on a slinky with frequency of 4 Hz <« 0.4 ma“ﬂ{'wM'Hz KZ/J{';Jﬁ(}fJ// UCV - VIl
and wavelength of 0.4 m. What is the speed of wave? ‘.‘L,(n Uk J;j:

CABD)



- .

Section - I (93 >

Note: Attempt any TWO (2) questions from Section IL.

5 - (a) What is meant by e.m.f ? Explain the method to
measure e.m.f with diagram.
(b) A step-up transformer has a turn ratio of 1:100.

An alternating supply of 20 V is connected across

the primary coil. What is the secondary voltage (VS)?

§ - (a) Expiain the transmission of light signals through

optical fibres with diagram.

of about 3Xx10°° wm™  What is the decib

for this intensity? What is the intensi@
for 100 dB? =

7 - (a) Explain with activity, "w carrier of energy”.

(b) An object 4 cm high is placed at a distance of 12 cm

from a convex lens of focal length 8 cm. Calculate the

position and size of the image. Also state the nature

of the image.

114-222-101000

2+2 (4)

-geLfﬁéaulr (2) ne dfe Uafa

1+3 (4) . L u’/g Sur S ol Ve i 1 (i
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Q %
{b) A normal conversation involves sound intensiti@%
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PHYSICS Paper: II (B uiW Il JEGLE) 222 - (IV)

I 3¢ 7

Time: 156 Minutes (Group:II) OBJECTIVE (s (7:/ L) & 15 sy

Marks: 12 Code: 7478 QU’-Q 2-2) 12 1%
o

L vbz e e Ui Ut &L & el dl}’/: £ QK L}'i. -Ur L D CBeA iR e L Jlr'/; ket

K ? 2 015 u: n:ur’JL.f/; Sk L S 4 SUsoh wbi e i ity Y, VNS aj.'.' b Ol

1. 1- "During the fission reaction of 1 kg of uranium - 235 @/ wim & 51 u“’& 235ty KLl -1

amount of energy is released. - C}n sl A §
3.7x10" J (D) 4.7x10" T (c) 5.7x10" J (B) 6.7x10"J (A)

2% - To make burglar alarm, we use gL A A it plﬁng. 3
NOT gate. (D) OR gate (C) AND gate (B) NAND gate (A)

3- Therewilbe ___ volts across 6 ohm resistor o bSey A3 e Sl fle -3

when 3 ampere current passes through it. L W J:{, oy e AL FaJ

0.5 (D) 18 (C) B) 2 (A)

4 - The speed of light in water is approximately | (3:4_________ L:/""“/G/ thu V= OL -
43x10°* mS™' (D) 3.3x10°mS™" (¢ 2.3x10° S (B) 1.3x10° mS™" (A)

5- The intensity level of train sirenis _____(decibel) dB. -< tx (dB) Juﬂié@r_dﬁ o”“Ll KoLyl -5
120 (D)~ 130 (C) 53’ 150 (A)

6 - In motion of a simple pendulum restoring force is AP iy Z_/J}fl)dg: ol -6

| Y

tension in the string 3¢ Ux Ziws O%S air resistance =21 S (A
inertia Q& force of gravity = JJuis (C)

gthe G L e G s T

provided by

7 - In a vacuum all electromagnetic wa

same _
wavelength #s (D) mplitude 3£ (C) frequency ) (B) speed A (A)
8. The loudness of a sound is most closely relatec}‘;to its__ - . -& Ty B e AL JokJ Ku’fﬁu Ji‘?t/ -§
amplitude }x ¢ (D) wavelength n’%’:]'f (C) period Lz (B) frequency Y 0]
9 - The critical angle of glass is e VAN L -
46° () 44° (C) 42° +B) 40° (A)
10- The leaves of charged electroscope collapse if.we U4 € Ot & ..(:C:/’-?t Jele 4 LSS e . 10
touch its disk with : Kebnf
lead 4 (D) plastic &1k (C) rubber % (B) wood ¢4 (A)
11- The study of magnetic effects of curreht is called ~ l:uf o § et J?po Lt 4
electromagnetisn k‘éx}gl (B) magnetism (-)39 (A)
electricjty uu“/’gl (D) alectric capacity Cﬁ{f)‘?l (C)
12 - Graham Bell made a simple telephone in -k T u:"&‘ b Lo dfﬁlf o )
1896 (D) 1888 (C) 1876 (B) 1866 (A)

115-(IV)-222-98000



PHYSICS Paper: II
[ime: 1:45 Hours (Group: II) SUBJECTIVE
Viarks: 48

Vote: Section I is compulsory. Attempt any TWO (2) .

questions from Section II.

(U Il J-ysik) 222

OLVT-Ga-22

Il 2¢ v7
i (oo ) 1145 2

: 48: %

(2) we (51(4. u-".'r»..-o ..g.dJUd;l,.,p Oy
& % L =y

d

......

Section - 1 J:‘ >

2 - Write short answers to any FIVE (5) questions.
i- Define kilowatt-hour, also write down formula to find

energy in kilowatt-hour.

- In order to measure curent in’ a circuit why ammeter is

always connected in ‘series?

iii- Draw a labelled diagram to illustrate the structure of
| transformer.
iv- Define Lenz's law. /
v - Define Fission reaction and write ?/own its equation.
vi-  Write down the alpha decay pfocess for PaZ: g
vii- Whatis dlfference between atomic number and atomic
viii - How many watt-hours are there in 1000 Joules?

3 - Write short answers to any FIVE (5) questions.

Describe the use of ultrasound for thyroid glands.

“@@

(2x6=10) -2 7z Fl iy (5) &\ d;" 9
J(j’./lu”,,l l,,{/‘z:u//rf,,rvl,){
-’ag,)/m_/r}v,w

28 )AL 2 i S gt oS

e tellz Ul G & b yr

& Oh st § il § /s S

S LA

-:.iV

- - -J@f:QJ »l&f!._y}d’uiffu/ué -V
-agu"/;/ (alph decay) L3 Wi A‘f Pd - Vi
mass? - ?c_ u/lfu’ Jtu’ml/u’l - vii

"{;w“f/jéum)’ (5) é L e d/ g
“EE Wb ST L5 &L 50K s
¥ 282, A et § iy 5L

ii- Whatis the role of compresswns and rarefacti -1
the propagation of sound waves? ) T v
iii - The capacitance of a parallel plate itoris 100 puF . -~ 100 pF puiteanS Jk;(gk JJI/:, L -
If the potential difference be { e plates is 50 volts P 60 A0 KJ"“"’;‘ oL r/?‘/;
find the quantity of charge stored on each plate. v r}”ﬂ,&e-{f Pl &y dn Gy ik
iv - Defme quality and pitch of sound. éf_:f 4/7 J Mt sl v
v- How the sound waves are changed into electrical gignals, e b Vifrel Ut KL Loy st oy
and how are these transmitted? L s < u%“{} St
vi- Whatis sound and h\ow is it produced? e Jn % 4/ z e YaiL i
vii- What is a parallel Ia} e capacitor? Draw its diagram. e e r}{‘ J e &f )1;( ok JJI/:- - vii
viii - What are secondafy itorage devices? Give an example. & Je LIS xS Ay ('-J'»’f G - viii

4 - Write short answers to any FIVE (8) questions.

i- What are mechanical waves? Write down an example.

ii- -A wave moves on a slinky with frequency of 4 Hz and
wavelength of 0.4 m. What is the speed of wave?‘
iii - Define power of lens also write down its formula.
iv- What Is the difference between real and virtual image?
v-

(&130m)

Name two factors which can enhance thermionic emission

2x6=10) -Zy/clz Loty (5) &) e df -
_&.ﬁdlﬁ‘%ﬁ fut W igs J{{“‘; -1

0.4 ma#%ys st 4 Hz S ps b g

HE e fe Syt

S S ks g g S S A

i IV uen L & J’;:Js st F

ol SHAL e sa S P ajf,{frc Lot ss

g »



vi- Define analogue quantities and give exampie. ey Je sl i i /7 J Ul JTM
vii- Draw a symbolic diagram for NAND gate and also write down
- [ts truth table.

-vi

H qu,,u;.b, rl/ gr:J"w S NAND - vii
L

viii - Differentiate between longitudinal and transverse waves. @ 5 uen £ ity st sl J;‘:‘-’g’ - viji

Section - II (9 %

Note: Attempt any TWO (2) questions from Section IL. e n Ll wy (2) pe ch:.. VI O

b - (a) Explain the use of electromagnet in relay with diagram. 1+3(4) S £ ._*‘..AQ:}‘?I Ua (relay) ¢, (L) - 5

..Z‘:c_ o4 Jﬂfll)' ol
(b) Two resistances of 6 KQ and]12 KQ are connected  -(B) AV K}g/u »nL12 KQ 116 KQ ()
in parallel. A 6V battery is connected across its ends. ® dﬁ’ Ziufig £ e
| \S S
Find the value of the following quantities: @ =L G ol s Bt Jouxd
g o
1) Equivalent resistance of the parallel combination. @ y
i) Eq P @ -U‘P.;JLSJ‘/‘JJ}? L)’f_-: (i
ii) Current passing through each of the resistan 9 ) .
' ' @ -y & e iy (i
iii) Potential difference across each of the fance.

= (,,";"_/")' J’J""J.gf J'/” r.C/'fJ'//; (1

3 = (8) What is meant by electrostatics? Explain it with B8 A ) e slp Ve S8 (L - 6

example of electrostatic air cleaner. ﬁz:}.wuu J Se Je§

(b) A sound wave has frequency of 2 KHz and wavelength (6) 2KHz .7\ m"%’, s HEIS g2 k3L (L)

35 cm. How long will it take to travel 1.5 km. L ol ¥ 1.5 km el -t K735

C& ot Kos =0 '.':rfi’_r 27

- (a) Wirite down different features of compound microscope. © 2+2(4) ‘{ {f (features),/ L e Bk :l;f () _

Determine its magnification through ray diagram rlﬁl} <, (magnification) m“%& J J1 !
S pial
(b) A wooden bar vibrating into the water surfacg in a ripple (5) Zx &S w4l ¢ cS (}g VB s (L)
tank has a frequency of 12 Hz. The resultirig wave has & e 12 He o) J(.fu{l s
a wavelength of 3 cm. What is the speed. of the wave? 187 e, < 3 p?ﬁ‘i’: s dis L L
n ke

115-222-98000
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PHYSICS Paper: I (Il JFGAE) 221 - () II.z4 Ve,
Time: 16 Minutes  (Group:I) Objective  «n U‘Sf’ (v:f kr) & 15 :8h
Marks: 12 QVT@)-2) Code: 7475 12 : /%

LA [?».//)4_u"u:ﬂ:i;..)c:.lrﬁdlf/.‘qub’ -U*ZL:D/JIC B« AuLlJ’j/bédb’/ 0%
-b’n”"w ) 4 vuau*un‘(fé.///u(tg/.¢fu:/b ol e I 'Zﬁ')/c,u‘l,fl /o/b.alaf (%

1. 1- “The basic logic operation of NOT gate is called BESRI L L afet -1.1

inversion %7 (B) non-inversion ¢fut (A)
NOR operation %7t (D) NAND operation ¢%;T% (C)

2-  The strength of electric fieid at any point in space is called - ;’f P J ¥ ..f/‘?l 4 b o’r L -2
electrostatic induction 21 @429 (B) electric field lines U291 (A)
electric potential d""':; J* (D) electric field intensity é’ﬁ}&‘J}gl (©)

3 - Find the equivalent resistance of two resistors of 6k Q FLESOVIPulakQa6kQ S 3
and4k Q whiéh are connected in series across a 10 V battery -J n Ll 7 o lin Ly
%kn (D) %kﬂ ()} 2k (B) 10kQ (A

4 - The step-up transformer Q((Q\ /AM}._AVA‘ v

has more tums in the primary @ Ut Lnﬁ obit Sy A8 (A)
has less turns in the 5@&%}“ VNI IRD AN A
mcreases@%ut voltage ¢ bk e 5”4; Ul (C)
inc <hv(%he input current e txfu eyl (D)

5- Waves transfer from one place to anothe /Q @ Ut Gf /’7!}.5 U £ Ly -5
frequency %/ (D) wav/tg\Q length> 3%y, (C) energy %/ (B) ‘velocity (s (A)

6- The value of constant K in Coulemb's law depends upon - A K etz L A 6
fcharges 7L-¥Z/ (B) medium between charges (i ylns Zile (A)
magmtude of charges /LwJ Z/e (D) distance between charges Jwiuiend 7/ (C)

7- From which of the following you can get information S S vt e e St dime 1
almost about everything? ‘£ S
internet jé—.r?"' (D) computer Jud (C) teacher s+ (B) books A (A)

8 - Speed of sound in air at 100°Cis = MHT¢100°Ctin -8
366 mS™' (D) 386mS™' (C) 376 mS™' (B) 346mS™' (A)

9- The SI unit of radioactivity is -& &y SI¥ C{E‘: Igks -9

kilo rem f”‘ (D) rem (s (C) kilo becquerel J ¥ (B) becquerel Jpf (A)

10- Formula of em.fis < KV g 10

E;% (D) F=% (©) E=%’- (B) E=Q' (A)

11- Example of longjtudina! waves is -« Jo § g J,;"cj <11
sound waves m %34 (D) radio waves Jfs¢ks (C) light waves iy J U1 (B) water waves igs J dt (A)

12- The pole of spherical mirror is also called - b "Jp ¥ 2k 5 NT)

vertex Jg: (D) focal length igtf! (€Y . focus 7 (B orincinal avis /cl £, rav



PHYSICS Paper: II (o ¥ T2 JP0E) 221 IT 3¢ 7

Time: 1:45 Hours (Group:]) Subjective ...  (J®i1 (o ig) & 1:45 1D

Marks: 48 | 60], 4 ,-2, 48:(}5L

Note: Section I is compulsory. Attempt any TWO (2)' (2) we ‘;f e U (9o - $il Jio s
questions from Section II. e/ 3 Loy

Section -1 Jil .
2 - Write short answers to any FIVE (6) questions.  (2x5=10) -é{/ @&Lk/ﬂ Lt (5) ‘g < -2

i- Define mechanical wave and give an example. g Sy i
ii- Find the time period ¢f a simple pendulum 1 meter long HEE (> in f' 11 H:i,-g ol L §U % "
at a location where g =10 mS™ g=10mS™
iti- Derive the relation between velocity, frequency and -’cff a8 &"7 Uen £ i@z; 2l u"';f}f&u: - 1ii
wave length.
iv- Define pitch of sound? Why sound of ladies in shrill L TSudtzE 378 E 2 -iv
than men? fe Ll e
v - Define the unit for intgnsity level. ey LU o’l"f -v
vi- State laws of refraction. ~E FLTE S i
vii- Define lens and write down its two types. ..£ {f(lJl » J U1l 2' J/” d A i
viii - Differenﬂate between prlncipal axis and principal focus for lens. -L( 5 3 ‘/ !J){ 2 ffu)f‘ g ,J - viii
3 - Write short answers to any FIVE (5) questions. (2x5=10) -éfj’*}@%ﬁamf (5) ‘k = Jf 3
i- Define electric current and write down its unit. Ul Z Sl 0
ii- If0.5 C charge passes through a wire in 10 Sec, then §éc Jeisfe L i o/ L/ 05C A .
what will be the value iof current flowing through wire? ..£ (:“’/Lw u( oLl o
iii- Define potential difference and write down its unit. \ oy md 3§ AP i
iv- How can we find the direction of magnetic field in &V .._,/ L 4.1/ a b < U’Ifn-ﬂ -iv
carrying straight wire? <\ O\ S E Sl er S u@g',’

v- Define Joule's law and write down Its f\ U : &y KU :’J -3 /7 J UL Jz -y
vi- State the Ohm's law and write doy uation. & el Sl Z Yyl ¥ A -vi
vii- Write down the truth t#ble of : ate and its logical equation. o e S A &S AND - vii
viii- Draw the symbol of Ol;!-gate and write down its equation. L il J sl els = e ol OR - viii
4 - Write short answers to any FIVE (5) questions.  (2x5=10) -é"f ':,W!/‘.'L = Uiy (5) i e Jf -4
i- Define electric field intensity and write down its unit. @ sy &g J’k%ﬂ.:‘-f}?l i

ii- Define capacitance and write down its units. -l ay & il Ew/d vt Lf-’f *
iii- Write down two uses Qf capacitors. w4 e Ut 9 L J)'f -
iv- How are light signals sent through optical flbres? St Z L LS L S Fuy iy

v- Define ntemet and describe two services of internet. b SN P Sk oy
vi- What are browsers? dive their two examples. -y ut'l‘/ s ez iy Ve iible -vi
vii- What is meant by lsotci)pes? Write down the name of L RIATE Pty S slp Ve RIAT -vii

isotopes of hydrogen. w4 re
viii - Write down the causes of back ground radiation. > Y2 St ﬁ!/.._é - viii

(210



-2-

Section - II (1 2 60}6'.2‘,

5 - (a) Define loudness of sound. Explain the factorson ~  (4) Jlfu':w‘! ¥ut-2E P8 e s (L 5

which it depends. o twy
(b) Two capacitors of capacitances 6 pFand12pFare  (5) 12uF 1 6pF L 2p, /¥ ¥ e (D)
connected in parallel with a 12 V battery. Find the 152 e §5 J 12V e 3/ J’f,@ 't O -
equivalent capacitance of the combination. Also find b f—_‘f p‘*’J‘f o’!f i 22 V-4 lf
the charge on each capacitor. -4 o d‘;lﬁ g Ll 4 )167
6 - (a) Differentiate between analague and digital electronics  (4) e U AR UTAD S Sl () 6
with examples. - £
(b) An object and its image in a concave mirror are of the  (5) &1 L (Pzney ¢20cm = 1z Fd (o
same height, yet inverted, when the object is ZO cm 4 (3" i & £ 4 £« z Jl{:i J () él{':f J
from the mirror. What is the focal length of the mirror? S‘d’ ” gf A‘Q"’Jﬁ’ J Y
7 - (a) Define natural radioactivity. Write down three (4) &£ St W 8& 29008 () o 7
characteristics of beta rays. - oo
(b) If two resistors of 6k Qand4 k Qare connected in ~ (5) YA U 10V 320 L4k Q 06k Q) (L)
series across a 10 v battery. Then find the following A ;J’.% ..y,w Fib iz A ore AL
quantities: Q\Q ZE
i) Equivalent resistance of series combination. @ - u"’u Gabs J 2 (i
it) The current following through each resistance. o O\}ﬁ)o LS il ) A u‘* i (i
m) Potential difference across each of the resistance. ( % M J’*‘,’g SIAE S i

114-221-95000 %
C@

L



%}: Hager f/.‘; Uss

PHYSICS Paper: T (fo eIl JAGIE) 221 - ) I ¢ V)
Time: 15 Minutes  (Group:1I) Objective - & (o ) o 15 :h
Marks: 12 QU T-42 2)Code: 1472 | 12 : /%

L 12 eony e S sty é:&: el Jb’/;{ Q¥ iz -Ujéé.: DsCBe Ao{.lﬁ.’fzyﬁ v g 1
Kt 4 A7 0l ..’:J)"JL/Q/&(LL/,& S Usiy e M S e LI 0 S Jdb

1. 1- Ifthe mass the bob of a pendulum is increased by ﬂfg: NIt E NS H:.i_—; u,r f a1
a factor of 3, the period of the pendulum's motion will Kot nézj ¥ ;/'r J '

remain the same ¥ 5350/ (B) be increased by a factor of 2 ¥Z_lsxt/s (A)
be decreased by a factor of 4 ¢ by |f t!fJ!’a (D) bedecreased by a factorof2 ¥ ibn f o (C)

2 - An example of longitudinal wave is - Je S Jiz%gl -2
water wave s§ 0 (D)  radiowave gyis (C) lightwave £ (B) sound wave L5 (A)

3- Ifarayof ligtjt in glass is incident on an air surface at an Sk LUl fJ It e s J d"?uc:— 94 - 3

angle greater than the critical angle, the ray wil Arnesiniy e Faffifrai g
reflect only wl i (B) refractonly &b~ (A)
diffractonly <£/Ji5i (D)  partially refract and partially reflect w &84 sl t €)

4 - The speed of light in glass is | - g d’u e .ﬁ-.-?‘ -4
331mS™" (D) 23x10°mS™" (©  2.0x10°mS™' (B) 3.0x10°mS™" (A)

5- Formula of capacitance is @@ - UG ¥ el 63'( -5

\% Q -

‘6 (D) v (@) B8 VC A

(/
/xg\og '
6 - The Coulomb's law is ((g%% - UIF¥ wd -8
F=Kﬂ‘rq—2 (D) F=Kq—;§-l-2-§{gn>d F=G———m;?12 B) F=qE ()
>

7- The unit of electric current is ‘ Q KSR 7
ampere, A4 (D) o5 <4 (© joule Jz (B) watt &b (A)
8- The direction§ of induced e circuit is in accordance ¥ _*f/.-/J TR () TR
with the conservatiol 6{\<
charge ¢ On Jbr £ Ui L Fa S t (B) mass & At b & e & S St (A
energy <. J:r .Jlﬂvé UL gﬁu}‘r S6/ (®) - momentum < U de Ll gt L u‘ﬂu}f i (b’*‘r (C)
9. The outputof & NAND gate is O when I (11 721, VSRS O 19 s RS
A=1,B=0 (D) A=0,B=1 (C) A=1,B=1 (B) A=0 ,B=0 (A)
10- The computér based inform'atipn system (CBIS) is formed by -« G S ur? (CBIS) (“' c&li?l}-;.*}:,gf -10
6 (D) 5 (©) 4 (B) 3 (A
11 - Release of energy by the sun is due to T AT AL J' ;f G -11
burning of gases & £ urd (B) nuclear fission 2% (A)
nuclear fusion i k’;c o chemical reaction (fg ldxd.‘.‘f (C)
12-  Half Ife of carbon-14 is e NS 14k 212
Ju 5760 years (D) Ji- 5750 years (C) Ju 5740 years (B) Ju 5730 years (A)

115-(T)-221-98000



PHYSICS Paper: 11
Time: 1:45 Hours (Groinp:II) Subjective
Marks: 48

Note: Section I is compulsory. Attempt any TWO (2)

questions from Section II.

(o W ILesy JFULEE) 221

avJ-62 -2/

Il z¢ 7
(o ) & 1:45 12D

48:05!.

(2) ve df e Emie adSii o nd
eyl ey

AT

Section -1 J3l .

2 - Write short answers to any FIVE (5) questions.

Define etectromagnati¢ waves with an example.

ii- A wave moveson a slfr\ky with frequency of 4 Hz
and speed of 1.6xmS™'. Find wave length of wave.
iii - Differentiate between d:ompression and rarefaction.
iv- What is meant by audilf:le frequency range?
v- Whatis sound? How is§ it produced?
vi- Differentiate between F}ﬂnclpal axis and principal focus.
vii- What is radius of curvdture‘? Write down its relation
with focal length.
viii - What is mirror formula? Write down it.

3 - Write short answers to bny FIVE (b) questions.

i- Define kilowatt-hour. Cu}nven one kilowatt-hour into joule.

Define resistance and write down its SI unit.

ii -
iii- State Ohm's law and w:i‘ite down its equation,

iv- Define mutual induction.

v- State Faraday's law of ¢lectromagnetic induction. @
vi- State Joule's law and w;Hte down its equatioq A

i \
Draw NOT gate symbolig diagram and

Write down two benefits of using\ i
analogue electronics.

L - Write short answers to any FIVE (5) questions.
i- Coulomb's law is true far point charges. What do you
mean by point charges?

ii- Whatis SI unit of electdc potential? Define SI unit of

electric potential.

iii - Letn capacitors are connected in parallel in a circuit.
Write down the formula io find equivalent capacitance
of this combination.

iv- Define the term “Teleco!’nmunication".

v - Explain briefly the term 'fSoftware".

vi- How use of internet is vérstile?

ii- Define "nuclear fusion”. -

ii- What are "cosmic radiations"?

(A13w)

>

its truth table.

ectronics over

(2x6=10) -ZofebrFLloir 5) & §f-2

 FEwWe el #h i
-4 4 Hz UJ'I)J‘{:JM &feﬁ‘{ua’ -ii
&b Y Inl6xmS T by
it cfgfu:' A -
e Ve e SSES S 2L 2ot i
Yo dvrlig & o S T -y
E o S S A
= Eg‘f) KU1 e sty &fc_ ,@:/JTU'{‘,J -vii
Ay
/Zé{_/f?f, VUK p - viid
(2x5=10) -é{f@fyﬂ@amy (6) é&e. d7-3
FEdrudalland 1 Ealany
o ?\\iﬁé\ﬁ'&z SL¥s 25 w8 -3
N e U E KA i
-é-é’/’tfw’a"!d‘z' -iv
Ukl F P EL v g -y
ot SN ZE eIV KUz v
SR e PO Sl et i
909 SPOSE e SO S - v
- f
(2x6=10) -ZEofaprFLloir 5) &L Of -4
2 Y T con & 20 el ¥ A -
Sty Ve
e Yey sty Mg i

g aimdekt i ny S i
WS r:"’g‘f Fiaf

AR e
SOy | SIS T T
S & Slbos S Vagtl - vi
S o A

st Y " ASh Lk

- vii

- vii
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Physics (New Scheme) ~ Paper: II (¢ Il JFUIEE) 220 - (II1) I 24 (ﬁc ) U7
Time: 15 Minutes (Group:1) Objective u":/‘ (.r:/ br) e 15 s
Marks: 12 Code: 7475

£ NP s o R s Z &a &L Jl’r/: £ Léb’ 'g}l:’.’ ,ungc:_
Kt 1k 2 043 S c«u“J&../,é //dab/.l_ /_..//:, J'/u:?b (31%]

1~ When uranium (92-protons) ejects a beta particle, Ly Je IR J_{’}; v (,:}5,4-92) (."34;_' -
protons will be left there in the remaining nucleus.  .J il st u(i:’g 0 u”‘i‘l

91 (D) 93 (C) - 90 (B) 89 (A)

2 - In computer technology “information" means: - b 9 J.:‘L:a?/’,_zf
anydata i/ (8) Q@; > processed data &5 4wy (A)

large data &lesls (D) @ raw data (356 (C)

& 7 P
3 - The particles emitted from a hot cathode suﬁace@% - Lu/ U Lo = i’ J 4 Sz }5‘; 2l

protons '/';u; (D) negative ions #TeL (@
’\\gﬁte

4 - The output of a two-input NOR gate is n - u‘ﬁn l R® .',STJ;/_((NOR) Adts an ot 0

electrons 71241 (B) positive ions # 7%y (A)

A=1,B=1 (D) ASO BZ1 (C) A=0, B=0 (B) A=1,B=0 (A)
5- The direction of magnetic |j f%rce arounda  LALT AUl L Vot LSS

current carrying con found by s SL; J e =
L AL P (B lens law w#5L A (A)

all of these Ui (D) right hand grip rule  Js1 £ =3/ o’j‘tq‘{b ()

6 - Under damped conditions (wet-environment) resistance SV e U S UL i
of human skin

increases & tha‘/. (B) reduces < ::iﬁgn ; {A)

none of these ch, St (D) does not change §-(3)'F W ufi.’ o (C)

7- The combined resistance of two identical resistors s U(/'j’.fu S ltna ypy s

connected in series is 8 2. Their combined resistance % § e 22 3 F s - 8Q

in a parallel arrangement will be K ¥

20 (D) 1282 © 4Q2 (B) 8Q (A)

8 - If two capacitors Cq and C» are combined in parallel, Ust &L i J)l',ﬁ Cp 21 Cq )il s /f'

their equivalent capacitance is found by i JL? d/(}-"u‘f ¥ Z)’;l/ AF

Ceq =C, xC, (D) Ceq=61;+—61;- (©) Ceq=C1+C2 (B) Ce":Cl+C—12 (A)

9- Index of refraction of air is s S, ST 1w

1.31 (D) 1 (C) 1.52 (B) 1.33 (A)

(&1 5

12 : U0

;Dz}fC-'BtAu:«l‘.’if;fzgz.d'f/: HOY
e ofl s fhe iy I £ o 38 S

-1

-6
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10 - A beam of light passes from water into air with ol f{.l ﬂf U e && 2 (Fe ol u(d%; - 10
incident angle greater than critical angle, the ray will be () esg ¥c. Jv (¥ "] ﬁ!.:f'.if'?
absorbed ( Zbx % (A)
totally transmitted J i .u{“3/‘4 ,_J’J"( (B)
partially reflected and partially transmitted J AWy Al o 2 (C)
totally reflected J il st LV 3 (D)

11 - Which of the following is a method of energy transfer? aj_'_ri../ Jb S p e Sizar - 11
‘e bx Jei
all of these i, (D) wave motion J:*J,:’; (C) radiation /IS4, (B) conduction u,tf (A

12 - The speed of sound in air at room temperature 21 C Jdinar e ,gf-/;:’puf»_«; Shiv L -12

and at one atmosphere of pressure is - f}'n & ot
317 ms-1 (D) 346 ms-1 (C) 343 ms-1 (B) 331 ms-1 (A)

116-(111)-220-84000 <i®
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Physics (New Scheme)  Paper: 11 \(ous el Jrguil) 220 II 24 (%) J7
Time: 1:45 Hours (Group:I1} Subjective 3 & .r:/ 1154 & 1:45 ;=9

6./,,"6’. 48:gfj.t

el & 2y (2) » e e Lo cdiidie o

Note: Section I is compulsory. Attempt any Two {2) questions from Section II.

Marks; 48

Section - I J?l.'o

2 - Write short answers to any FIVE (5) questions. (2x5=10) ‘éffuw/”é..uv (5) é [’ < Jf~

i- Define mechanical waves and electromagnetic waves. _c‘f -l ¥ 214 A i, ,/0 Il mu ]
1i - Define time period and frequency. _g{ —4?/’ &5’ d“}f/m by (n: -1

iii- What is meant by refraction of waves?

1v - Differentiate between musical sound and noise.

fe sy 'Lfc cjﬁg y J/’.}f}
_2,{‘;)!{. J/.u: 28 sk }fbgﬁ-)zf
S sl e B JTEY

-1

-1V

v- What is meant by quality of sound? -v
vi-  Write down two uses of ultrasound. g L Hud
vii- Define the critical angle. & S B i
viii-  What is meant by defects of vision? fe sl | e J” 1 L el - viii

3 ~ Write short answers to any FIVE (5) questions.  (2x5= 10) -% 2L =y (5) é e d7-3

i- Define electric field intensity and write its unit. Ly A sl J JJ'L ,d;_(/ﬂs -
ii - Define volt, @ 2 J/J VTR

Define electric power and write down its formula.

What is the difference between Direct Curre%@

111 -

iv -

- UU}"IL“ 1l éJfJJJ»J/“‘J'
L (AC) 2 LT s (D.C) 2/ e h s

- i

-1V

and Alternating Current (A.C)? S Uk 3k
v- Define electromotive force. A AL L

vi- What is meant by solenoid?

b |

ey Ve Xy

- Vi

vii- What is relay? Write down its.tise. & Je g ' " (Relay) L, - vii
viii- Describe the working principle of A.C generator. -2«:'_“! Wl J1 € i./;( i AZAC -viii

4 - Write short answers to any FIVE (5) questions.

(2x5=10) -Z ez Pl =y (5) ég e df-4

i- Define nuclear transmutation. T A0, T
ii - What is radio active tracer? Write down its application N It k1 S U 228000, i
in fndustry.
iii- A nitrogen nuclied 1E\/decays to become exygen nuclied by U far Ut 2 F TS L ]jV ¥ i
emitting a beta particle. Show this process by an equation. hw o s Bl J@t b LT iy £ quf
s
iv - How are electrons defiected by electric field? e Jy c‘f il /,/*"! 2 5L S iy
v - Write down the use of logic gate. & Jit g e »? ¥ o-v
vi- Wirite down the truth table of OR gate. & u-*“"i:/‘ J d.f CR -v1
vii- What is meant by word processing and data managing? e sp Ve S Byt -vil
viii - What is difference between RAM and ROM memories? fe 02 Ut G (ROM) o o) (RAM) £ - vii

(é—f dﬂ)



&y/ ;/"4"“ =

Section - IT (92 0

5 - (a) Define Simple Harmonic Motion (SHM). (4) i (SHM) J/J}'JEJ{ (D) | g
Prove that the motion of a mass attached Nen& ool by fol o
to a spring is Simple Harmonic Motion (SHM) & st (SHM) S Ko §
(b) An image of a statue appears to be 11.5 cm behind (6) £ ut-c 135 cms2 ) Sop u'gif._{! (&)
convex mirror with focal length 13.5 cm. Find the NsemE L 81l fand n
» distance from the statue to the mirror. e ol K & 32 Ju:;
6 - (a) Explain Ohm's law in detail. What are its limitations? (4) Sowi& 28 gk e JUY Ui L A (L) 6
P l{»w
(b) Three capacitors with capacitances of 3.0 UE,4.0uF (5) LU o“.‘r{f 5.0uF 5 4.0uF ,3.0uF /1 (L)
and 3.0UF are arranged in series combination to a Lol GES Ve 3 by i ¥
battery of 6V, where (1uF =109 F) . Find <§/ af'ff”b'@"“‘;”‘_/-b" Ea?
a) The total capacitance of the series combination. O@ . (1uF =10 ° F).&2
b) The quantity of charge across each capacitor, & % - J:"/d"” S % 1. (a
\ 164§ Tl ¢ i 1 (b

¢) The voltage across each capacitor. Z @

@ B ML feS 1 (o
7 - (a) Explain the working of different parts o Oscope.  (4) -Z.g-vu’d/u&d%,fﬁéfﬁhl () g
: &

(b) Cobalt -80 is a radioactive ele

th half-lfe of 5.25 (5) ¢ Jv 5.25 iy ('60-2i/E104, (L)
years. What fraction of the'oiigirial sample will be left > B8 1 J1S60- M £ i 26
after 26 years?

116-220-84000
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Physics (New Scheme) ~ Paper: 11 (f% J¥ Il JEUAE) 220 - (0 II ¢
Time: 15 Minutes (Group: II) Objective U"/" (,A/’ 1)
Marks: 12 Code: 7472

s e s

(D S
&2 15 12

12 : /A

Pl '?b—’J)G.’.»Ju,/’)ZC_Jﬁ-VLJ‘)"//Lé{UL? _U‘ZQ.; DsCcB« A.._u.?,leoéd’r/ Oy
,3‘/»"1& ..,f.?u;&u"vu"JL_/ /u(l.&./r/fu;/b vbc;..f é:/:_.u’l,/l.! 0oy Sk Vb

1. 1-

all of these U (D) wave motion o § 41 (C)

2 - Speed of sound in sea water is

972 ms-1 (D) 1531 ms! (C)
3- During refréction of light its will not change
wave length EQ ¢+ (D) frequency u”:g A(C)
4. The type/types of spherical mirror is/are
4 (D) 3 (C)
5- One micro Farad is equal to'
1x10°F (D) 1x10°F (C)
6 - An electric current in conductor is due to flow of

negative ions 7"’7:?:9 (B)
free electrons /:/af)i/

7- The specific resistance of metal iron is

1.69x10°8Qm ©) 10.6x10°8

8 - The presence of a magnetic fiel

L ki Se (B)
magnetic compass J% ¢t.i.. (D)

stationary positive cha

9 - Equation of OR-cperation is

X=A.B (D) X=A+B ()

10 - The cathode ray oscilloscope consists of ___

main parts.
5 (D) 4 (C)
11-  The term e-mail sténds for

electronic mait J< &1 (B)
external mail J S5 (D)
12 - When a heavy nucleus splits into two lighter nuclei,

the process would
absorb nuclear energy Jnu‘.«ig S/ 4% (B)
absorb chemical energy J Ndo ‘J/"g)g‘{ (D)

117-(I)-220-76000

Which of the following method is used to transfer energy?

% 9.8 x ng (B)

detected by

g;/d"f&/f.g,) Ul e S S

fe tn Jui

radiation *iSi. (B) conduction o i1 (A)
A & TR -:3& Sans

1290 ms-1 (B) 1498/ ms-1 (A)
- $ Ut Lareh § s
speed 4r (B) diredtion <~ (A)

- rulfq-\ I 9V ¥

2 (B) 1 (A)

it g E 3.8

1x108 F 1x108 F (A)

positive ions ;P’T:’:);' (A)
positive charges 7.k L 374 (C)
Sy
17x107%Qm A
S {1 T8 L
small mass L% (A)

-Lx:éo’: e

stationary negative charge (/b ;?-C'u(v {C)
=l Jcﬁ'{T(OR) 7

o o
X=A.B (B) X=A+B (A
i 8:1 J"}{ U A v:ﬁﬁ":la.a'f;{
3 (B) 2 (A)
- Ji?(“__;_}i'-d!

emergency mail < " AL (A)

extramail K124 (C)

s V”f:ju'-f AU L 0 u*féffﬂé L=
e Sy

release nuclear energy J n o GBI (A)

release chemical energy J nl ;j’./'uf:‘f (C)

-1 .1

-10

- 11

-12



Physics (New Scheme)  Paper: II (" VW eII b JFBLE) 220 II 24 ((-F v,
Fime: 1:45 Hours {Group:II) Subjective Jlﬁ'l (.r:f 13) & 1145 .55
Marks: 48 6] /’_, l‘rq -0 48:7
..J...Ll'! L =iy (2) » < ch:. gﬁp:.o -q.d)ﬂd:' Ly
Vote: Section I is compulsory. Attempt any Two (2) questions from Section TL
Section -1 J§ o
2 - Write short answers to any FIVE (5) questions.  (2x5=10) -é( )’ a&li.’/‘?ﬁ. =i (5) é e Jf -2
1- Whatis the difference between machenical waves and L e Y £ 1 el 343 S

electromagnetic waves?

ii- Provethatt V=f2A V=fk : faep i
iti -  What is meant by damped oscillations? Se oty Ve PAies -ii
iv- Define pitch. What is the relation between pitch e F AT S e -iv
and frequency?
v - Define the term acoustic protection. -Z: i J lw qr’ -V
vi- Calculate the intensity level of the faintest audible sound. -46 u"" |6 k5 (” 4 ...ih} W -vi
vii - ~Define power of lens and write down its unit. & g1 -2;’.5 .,-y/? J }3..5'4;& - i
viti - How farsightedness can be corrected? @ (U m A PPL s it
} - Write short answers to any FIVE (5) questions.  (2x5= 1%%%{ ‘ _«L!!/;? Loty (5) égc. éf -3
i- Define the phenomenon of electrostatic induction. Al Ko P i 2

i1- Write down some examples of applications of e!ectro# A3 J St u»@, by J:c; s Sl -1

in our daily lives @ s Juls
ii- Define electromotive force (emf) cf the so <& -é ...3‘/7 d’ ' (emf) Ju" i:‘:}‘:/'t u( Ju o -1l
iv- Define conventional current. PSS iy
v- What is difference between ¢ rs and insulators? SR 3P0 e GO 3
Give some examples of conductors and insulators, i u‘-JL‘J o '
vi- Define electromagnetic induction. -:’__{ - /‘7 J J’fi'l .@C‘:}al -vi
vii- What is the function of a transformer? e KUK v
iii-  Write down a note on relay. & <7/ (Relay) &, -vii

- Write short answers to any FIVE (B) questions,  (2x5=10) . ~Z':(i ._al.b"/’? Ly (5) é be Jf 4

i- Draw the symbol of OR gate. ~elxy iﬁu 138 J(OR) -1
it - Define analogue electronics and digital electronics. _{:’f -3 uﬁ/@-?! g}'ﬁ:j »! J‘;,f‘?u!.!lai 1t
il - Write down the names of components of cathode ray el rt L ur? L (CRO) ».._..d:':*'..’:‘c..zﬁy;{ - ii1

oscilloscope (CRO).

iv- What is meant by hardware and software? e sp e faddral padly -iv
v - Write down any two advantages of e-mail. Ry Jf P 41 {
vi- Define isotopes. A S AIAT i
Abe Define natural radio-activity. o Ly Yd g Jﬂz/ fg.,i,xdf,l - vii
iii - What is meant by half life of radio-active element? e sp Ve sy eyt -vii

(&g



5.

av/.’ fo~- 4"4'” Section - II o 22

5 = (a) Whatis simple pendulum? Show that the motion of ~ (4) .:f?ef H:Jg: oS é =ik fe Y ﬁ,}gguv () | 5

| a simple penduium is simple harmonic motion. ~e &n Jr‘ -fr‘l:gfvf
(b) An image of a statue appears to be 11.5 cm behind  (5) & Ji-e- 13.5cm JQ){;’J;/ fr’".f (&)
convex mirror with focal length 13.5 cm. Find the 11.5 cme Y J¢, indizl
distance from the statue to the mirror. & r;"’.bb e p¥E -\ § 3w ¥,
6 - (a) Describe the factors that affecting the resistance of (4) Lbix Jw}l4 S f () }-C‘J i1 g -8
a conductor (wire) and derive an expression. ..2"! ol sl J J"’TJ.' sl Z-’ gk S J’rf
(b) Two charges repel each other with aforce of 0.1 N, (5) wiusez &L 5em w2 2 » (L)
when they are 5 cm apart. Find the force between LS e SOAN S
the same charges, when they are 2 cm apart. 1 BE P 2d StunLl 24y
s é-.’fé./{éﬁﬁ& 2cm
7 - (a) How does the house safety alarm work? (4) Ve eSr¥ z,}gf,oufé‘f ¥ ,f () .7
Explain briefly. @ B ol
(b) Ashes from a campfire deep in a cave show carbon-14 (5) J 4308 R (Ashes) £u8y Sk A (&)
activity of only -;" the activity of fresh wood. How long %@{@( PO -+ g d3 & L §Fein ()
% &y

ago was that campfire made? Z @

117-220-76000
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Physics (New Scheme) Paper: II (ﬂ’ JI 11 <l d)adﬁ’?) 219 - (I 1I 24 ((-'F %) (f}.‘
Time: 15 Minutes (Group: I) Objective U‘S/“ (‘7”/ br) L 15 1hy
Marks: 12 Code: 7473 12 :(.fgt

L M S s u:u,}')éé)&bédlr);{(é((}ﬁ -Uj’éé: DJJ’C‘B‘A&&’J?;«FJ?L Jb’/; HOY

i 1-

e
'

Il-

KrP e iz ofi 2 e § S Suky Y A AT L Es e F L I S T s Je
If a metal (Tungsten Filament) is heated to high “b (f 4 Mo ik f (wonif o DHFELGS 1
temperature which of the particles are emitted out? 104 o )?Jg 217

U Sl y‘:’,{ (D) neutrons /¢ (C) protons '/':":4 (B) ectrons 7 29| (A)
both protons & neutrons ‘
A 100 watts bulb is connected to 250 volts supply. - Wea dd A0 /4L w100 o .
The current flowing through the bulb is amperes. ~& I < Uz ; ATy
145 (D) 48 () 25 () 04 (A)
Which of the following is not a processing? ‘e '...6:«,{ f Ve S J;'._u.o -3
gathering =L (D) calculating U;.Cf.,l) (C) manipulating S (B)  arranging ka7 (A)
For an ideal transformer, we can write that SaES g &’ SIANSIET g
s b Ys. % e b
Y, I (D) I Ip (€) ) Vs Ig (A)
The brightness of the spot on CRO flourescent 2 _;ad/ﬁw CRO -5
screen is controlled by ;
positive potential of grid J}% % ¥ 3 (B) %Q anode 331 (A)
cathode 1,77 (m ¢ % plates Jﬁ (C)
Wnich of the following option is a stream of @ WL BA sl BT ALits -6
high energy electrons? & ‘e "{
beta radiations 2151, tx(8) alpha particles £ 1 (a)
positive ions gamma radiations ftld.fu ¥ (©)
Two resistances of 6kQang12 onnected (U4 b 6 it J12kQ i 6kQ .7
in parallel across a 6 volts b The potential SIAEL 5 6kQ ez e 3 Ms
difference across 0Kk<2 resistance s volts. U Y
12 (D) 6 (C) 4 (B) 2 (A)
The speed of light in air is approximately equal to____ msT - ,‘Jd 2 [4 /"",C-‘/ J L}%J[ﬁ”ﬂ -8
3x10° (D) 3x10° (c) 3x10% (B) 3x10° (A)
The speed of sound in solid is times greater ¢/ U E G L e e T S .9
as compared to gases. ~&- 03kJ
15 (D) 10 (C) 5 (B) 2 (A
The wave in which the particles of the medium move back J 4 o St S -:a’/"i . fir o S ’2) @ -10
and forth along the direction of propagation of wave is called - duf__ < RENI I .-:/J Jr
light wave y, ¢ (fu (D) radio wave 144, (C) sound wave L) u(;'bf (B) water wave 4 ¢ d& (A)
The radius of curvature of a converging mirror is 20 cm. & i 20 £/ ST RL K p o i, Wb =51
Its focal length will be cm. S - S
-20 (D) 20 (C) -10 (B) 10 (A)
The electric field lines are used for the representation of -t O Jo1 A28 8 f_’:’_’ LSS -12
capaciiance osislnnS (B) electric potential J”"’:}J}?l (A)

TASY L3} W ‘~""“‘\n“1G

potential difference (/% ¥} J"-’;’ (D) 6 EJ/PZ— / 7 electric field U /20 (C)

-1



DRSS Uvew Scheme)  Paper: 11 (f"l JI I !-‘vlk ch $.2£) 219 II 24 (('-; <) L//'

Time: 1:45 Hours (Group: I) Subjective (i (.r:f %4 & 1:45 .2
Marks: 48 48:

Aoz £ ety (2) » < Jf L e filfi e 10
Note: Section 1 is compulsory. Attempt any Two (2) questions from Section I1.
' Section -1 Jil

2 - Write short answers to any FIVE (5) questions. (5x2= 10) ..c’;.f(f:.-w.ﬁ/‘?ﬁ =Uly (5) é be Jf— 2

1+ If time period of a simple pendulum is 1.99 second. Sl e 199 Lp Fekin SN
Find its frequency. L
it~ State Hook's law. ey L -
i - What is meant by Damped Oscillations? ‘ol Ve A i i
iv- Why are sound waves called as mechanical waves? W ..’f o 3t S S 2 v
v - Define intensity of sound. Write its unit. ~E g el 2 P il 25 Ly
vi- What is relay? How does it work? fo r.f,'b’ 4_(:, ‘— U (Relay) &, - vi
vii- What is difference between step-up S OPV UL it o it i

and step-down transformer?

vin - Slate Fleming's left hand rule. e Wk Jr ¥ £l J’L Vuld . visi

)6t d/-3

oW L ey -
n- Define the power of lens. Write its unit. % E@A, sl & .,u/d A ._msl -1
i~ Differentiate between reguiar and irregular reflection. %‘{& aSuliy ) saeb 1ol a sl - iii
- Define telecommunication = _«v/‘ J Ui :ju‘. -1V
v - Whatis a computer? Write down the names of its main parts. @%_ e L U r L L SL " Ve /.-:,f -V
vi- Write two advantages of e-mail @ e L3 v
vin - Write general equation and an example of be c@ - e L st 2 ¢ (Beta-decay)l itz - vii

3 - Write short answers to any FIVE (5) questions.  (5x2= 10) -i;!:‘ (f .'.-awﬁ/:?

1= Wrile two uses of light pipes.

vin - Define nuclear fission reaction and write i tion. _26 =il J”l i ..':-'f - /‘J uj{ IS, f’/’";: - viil
= Write short answers to any FIVE (6x2=10) -c":(fuwﬁ/"’ﬁuﬂfr (5) é L & Jf-
1 - Define electric field intensity, _.»/J ) '.:JJfﬁ‘ -1
- Write any two factors that affect the ability of a Lo Szl { = .) S &b J AawaaS L
capacilor to store charge. 22 head
iti - Three capacitor of capacitances 3M{ 4pf gngSuf are SbusS o L it SUE L dpf 3pf i
arranged in series combination to a battery of 6 volts. triiblize S5 ._;‘2; 6 3lyrd
Find the total capacitance of series combination. LA IRl AR §P
- Provethat: 1kwh=3.6MJ Tkwh=36M &5 =ik -iv
v - State Ohm's law. 2 Uk yif ¥ v
vi- Whatis the difference between D.C and A.C? fe OV LACHDL -vi
1 - Describe the function of electron gun in CRO, -ij‘; b S/ L J’ 1 L CRO - vii
m - How is NAND gate reciprocal of AND gate? 2 c_.r s (AND gate).~./ " ~1(NAND gate).‘.:f & -viil

(24 1.3,,)



Section -

5 - (a) What are optical fibres? Describe how total internal
reflection is used in light propagation through

optical fibres.
(b) Find the time period and frequency of a simple
pendulum 1 meter long at a location where g= 10ms™2.

6 - (a) Define specific resistance

L
and prove that R =p—
A
(b) A point charge of +2 C is transferred from a point
at potential 100 V to a point at potential 50 V.
What would be the energy supplied by the charge?
7 - (a) Draw the circuit diagram of a burglar alarm
and explain its working.

(b) The activity of a sample of a radioactive Bismuth

1
decreases to ‘8' of its original activity in 15 days.

Calculate the half life ( T é ) of the sample.

119-219-78000

-2.

I e
(4) WSS E AT () g
VAT L pali, i
e 3/
(5) s f s el LU (L)
(g=10ms"2)0 & b )
(4) &/ f by () g

R *PXI@-&:M'

(6) &b FH100 Vi o wy Le20 i (L)
et ey Ly Psove wiy
| W s § G nfir § Lk

Se¥ L uta st S ol Sk (U
-éau,

(6) ASIE A 27Kt L yins S (L)

0
2

(4) -7

1
JJ» "] J;“‘}.f_wt-fgs’

Q@ & o



_Asart
II 3¢ (ﬁ; <) J
(‘T’J |a3) e 16 12
12 :
..u_?éé.: DusiC. B«A.:«UK.:«FJ!:LJV/; HOY)
Tt wie L& fe LS S oo 5 -
If we double both the current and the voltage in a circuit L2, LY Was - _*J}._._f! (Zfl 1 1
sk 3> /E‘J;)fg» sy
remains unchanged < AE-AINI A (A)
becomes double (Z st/ (C) -
- J B ikl -2

Physics (New Scheme) Paper: II (ﬂ' JW ‘nﬁﬁd& J,C i) 219 - (I5I)
Time: 15 Minutes (Group: II)

Objective d‘:f‘
Marks: 12

Code: 7476
L 2 en e S s &L ésr &L Jb’/: £ Qb’ L}':?

-(nm"w -2 u:&gﬂ:d/(!é./é/¢(&2_/‘£
T « ) s

while keeping its resistance constant the power

becomes half (Z L x_id (B)
becomes four times J bl bﬁ,l'o (D)

If we burn one tonne of coal then about

()
'

energy is released

3.6x10"1 (D) 26x10°7 ©  16x10'°) (g 0.6x10'%J (a)
3 - The loudness of a sound is most closely related to its - ity M1 3 sl € A3 S -3
amplitude 3245 (D)

wave length E@# (C)

period Lz (B) frequency (L) (A)
AND gate can be formed by using two gates.

23T S AND F S U P d S 4
@ e 6‘:‘.‘ J‘lo
U NORgates ©) ¥ OR @ﬁa) J¥ NOT gates (a)

Which thing works on the principle of electro-magnetic J‘(

@Q;ﬁmu’ ik sl J/’?b/}ﬂ z tff -5

.,fif NAND gates (D)

8-

@ .
induction in hydro-electric power house? @ *.‘4_ df rb’4 e £
generator %32 (D) motor /v cell J (B) battery (& (A)
6 - Mouthpiece and eampiece are the parts of @ S22l LA EEN -6

computer /‘y__-.;r (D) televisi

(C) telephone u}(k‘ (B) micro scope YE/.C'L (A)

7 - Number of input terminals in N i 3o s Jﬂ’)..u;ug S NoT 7

4 (D) 3 (€ 2 (B) 1 (A)

8 - Astrong field lies'in Faraday Cage. - by P — Al L (‘;f 2 -8
gravitational J"::dzf (D) geometric J/‘.’r_? (C) magnetic bl (B) electric J}gl (A)

9 - The speed of light in water is & o r— R J(f:/ e d& -9
1x108ms™! (D) 2x108ms™ (©) 2.3x108ms™! (B) 3x108 ms™! ()

- 10- The part of a wave, where the particles of medium are & e P el L fa U 20Ky =10
lowest from the mean position is called

~G- t‘llf(______ Ut s
wave length i@ » (D) wave front .:;/',p (C) trough J/ (B) crest &/ (A)

I'l - Alternating current (AC) frequency in Pakistan is -< u‘*;f/ J (AC)2/, ...@.f‘/"l o ul‘/,l'. =11
80 Hz (D) 70Hz (C) 50 Hz (B) 60 Hz (A)

12 - Which of the following quantity is not changed i e, Ll S 85 -12-
during refraction of light? 0w J

its speed g;d’ J1 (B)

its direction &J1 (A)
its wave length i@(:Jw (D)

its frequency ¢ U1 (C)
120-(111)-219-70000



- Physics (New Scheme)  Paper: 11 (ﬂ J¥ Il JF $.4£) 219 Ozy ((‘-ﬂxf) J9
' Time: 1:45 Hours (Group: II) Subjective Jﬁl ('.r:f 113) & 1:45 O]

‘Marks: 48 48:5/;1.
4 ez £ ey (2) ve &fgﬁr”.b +d)ﬂd§l.b L

Note: Section I is compulsory. Attempt any Two (2) questions from Section II.

Section -1 J3l %

2 - Write short answers to any FIVE (5) questions.
1- Calculate the speed of the wave, when frequency
is 2 Hz and wave length is 0.1 m.
- State Hook's law.
1ii - What is meant by restoring force?
iv - How can you define acoustic protection?
v - What is difference between musical sound and noise?
vi- State Faraday's law of electromagnetic induction.
vii - Define ideal transformer.
viii - Write down any two factors which affect induced e.m.f.
3 - Write short answers to any FIVE (5) questions.
1- Define accommodation.
u- Whatis meant by farsightedness?

i - Define resolving power.

iv - Differentiate between information technology O@
and telecommunication.
v - Write two services of internet.

vi- Write any two advantages of e-mail.

vii - Define carbon dating.

viil - Write-two charactenstics of beta (B ) particles.

4 - Write short answers to any FIVE (5) questions.
1- Define Coulomb's law.
1 - Define electric field intensity and write its unit.

m - Write two uses of capacitors.

wv - Define electric current and write its unit.
v - State ohm's law and write its formula.

wi - What is‘ the difference between ohmic
and non-ohmic conductors?

Vil -

viii - Define thermionic emission.

(5x2=

Wirite the names of components of cathode ray oscilloscope.

(6x2=10) ZEfez Loty (6) L §f-2

¢ 2Hz GG ot Sy i
e 0.1 maY,

Yy ¥ L i
e spfe Ak, i
i S P L TS S
e O/ VUt #ul k3 RBise
& ke P 6520 I K -vi

v P pd T

I Nhtse d Q JeI 2 g em.f loy kil

-1v

-V

- vil

A

(5x2=10) @%ﬁwﬁé ol (5)étc.6/-

%@

Ay AN
ey VeGP -
S By -
0t PEIY g v

RS

Z e L S

S B g

e SR (B

i f ez Loy 5) by O -4
2PN 57 [ ) S

& i 3P GH

e e 0 L3S -

L Eey i 2 P oS

-v
-vi
-vii

e

10)

-iv
-"J Ul 0 s 'é:fu‘{_« Jee K(:J’ -V
< g/ Efd: )ﬁ/ﬂ_ﬁi:'ut sl e -vi

-grbé ﬂ!{&g)‘b't—l;’:{ - Vil
P S i



Section - IT 9y o

5 - (a) What is telescope? Explain its working
and magnification.
(b) A simple pendulum completes one vibration in

2 s. Calculate its length, when g=10 ms-2

6 - (a) Discuss the main features of paralle] combination .

of resistors.
(b) A point charge +2 C is transferred from a point at
a potential 100 v to a point at potential 50 v,
What would be the energy supplied by the charge?
7 - (a) Define OR gate. Explain it with circuit diagram,
symbol and truth table.
(b) Carbon-14 has a half life of 5730 years. How long

will it take for the quantity of carbon-14 in a sample

1
to drop to § of the initial quantity?

120-219-70000

Q TS
ye

(4)

(5)

(4)

(6)

(4)

(5)

S AL, FL Ut VOAE (L) 5
-é:)l}:

-+ AL 2s Enfigbion g (L)
9=10ms2 & 2w {14 11

e I d Cire 3 p A ()
-2yl

L6 P00V S Lety £ 120 o (L)
ety Ly Psoy o Ay
IR ARY oSl u"\’.wk -& bl

Felus el se Ve OR) T (L) 7

“EE ol S

-& 5730 Sy S 14-gk (L)

-8

21
oy F g f 6s S 18-
O ) 3y S
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Physics (New Scheme)  Paper: 1T (Bl W) 218 - 1) 1 R '(r'-'fﬂ W

Time: 15 Minutes (Group: 1) Objective (73 (g i) & 15 2h

Marks: 12 u Code: 7473 12 2%
n{_;,z'.ﬂ ﬁrfﬂﬂgfh'}ﬁhgéﬂ;ibi u‘-’r‘;{y{éfdfﬁ mgﬂié#ﬂﬂ1ﬂaguﬁ:‘}"ﬂ ’ Iir-;':{.hr’; Tk
Ao i 2 i L e JES LSV LS i i L fe of LAY e 2 T

1. 1- Thehalf e of lsad is Y .1 1
& 1225 hours (D) & 10.25 hours (Cj £ 106 hours (B) &' 807 hours {A)
2- ‘Whal does the berm ¢-mall stand for? e FE S -3
emergency mail JEUal (B) siectroni’mail JF_E (4

eemal mail EFE o) ehtea mail  E1250 (o)

3. The tarsformer works en the principle of _q,a-fft"- L A .3

D.C. motor A&y is (B) mutuslfinduction o1 K (A}
self induction o3 _x (D) AC. generstor 23 8.0 (C)

4- The rate of fiow of charges is called 2 EAd e L2 -4
couamb o (D) shn (G (C) volt oA B current =i A

§- Image formed by a camera is . ,.E_,énu.;_fi‘iéqghiuﬁr -5

real, ivened and dimpished  Jef ce o (L
virtual, upright and dyhingned dofes o o oo (B)
virtual, upright and gl 12 e ol i e (C)
real, mverted g ".‘ giifed  Uragaih ke [Le]
s+ Jedpab e

ight wave i 18y (O sound wave ¢ 25 [A)
waler wave go ' / radioc wave il (T}

7~ M the mass of the bob of a pendulum is & d by § M Fev S nddffAs §FA .1
a factor of 3, the pancd of the pen uomah:n will Wient s

E. SIS 8)  jbe increased by a factor of 2 Fivanth (A)

i Filn(tly (D) fbe decreased by atacior of2 ¥l i s ()

8- Ifemyoflightin glass s incidenten anairsurfce gt e L bne Edwe . (e o8/ 8
an angle greater than the oritical angles, the ray dll .,u" s F ¥ ,}5:- .,.ﬁﬁ Jti.s.-.-r,&-é‘r ¥

refsct only ol 3 (B ' refrectonly oEh ie (4
difttactonly £ 50 (D) parijally refract and partislly reflect. w48 e oL L 1Ty
9 - Them;dmﬁ'thwismbﬂhrtﬂmﬁwi“m Eﬁ.w,lr%“z.@gf;,l}fs‘# -8

qing and point charges Ty atyin2 ol
mm-iz and nor-point charges 2k L siml /77 B)
 stationary and peit charges T2l (€)
zafionany and large sired charges g L Fl-c s AL (D)

10~ Unitof resistance is f e Ay K -1
farad {2 (D} ofim ¢ (C) voll b (B) joule 2 (a)

11- The screen of a cathode ray tube is frade up v ikt D g ot ® .1
of material, calied “-'i .-
zinc £ (D) ron ' (C) phosphons i F (B) glass 25 (A)

12- Telephone was ifmiented in e g 2 ST T

Pt 1576 (D) 1876 (C) 1776 (8) 1876 (4)

Y S o e [O [ g



Physics (New Scheme) — Papers 1T (/0 Il JF0LE) 218 Il g4 () 5

Time: 1:45 Hours (CGiroup: 1) Subjective Jh'f :’..,,.J lke) “ 1:46 1=

Marks: 48 - 4a;ﬂ
- app £ i (2) 0 §F Lpm o il ud
Section =1 il 2

2 = Write short answers to any FIVE (5) questions, (6x2=10) -7 Tl (6) &k df -2

L= Write two features of simple harmonic mation, - st She il N -
i+ What is meant by compression? th &L A .
wi- VWhat is meant by nose poliulion? T 2l Ve uﬁr'T J.ﬁ* « il
W What do you know about SONAR? | "t e T IFL e v
v- Define echo. AL
vi- What is meant by conventional curent? ' te de Ve S Ly
vii- Define resistance. @ A il

vii - \What are msulators? Give Exmmphes. @ - &) ¢- ol &t FIP vih

3 = Write short answers to any FIVE (5) questions, @? i;}ablgﬂﬁmw (5) 5 k Jf -4
i= Stals the laws of relraction, @ - o T L AL R -
ii- What is the unit of power of lens? Define it, Q;S ,é’._;_-_,ﬂ,j’n Te Ly L JH i

; né@ lense. BRI HAT w

- Differentiate betwesn convex lens and

- Define slectrostatic induction. - T P iy
v+ Descrbe the method of ident! onductors and insulators. E AL VA

vi- Expiain word processing. -5 S J -l;,:",!'.; bn -wvi

i« Write two advantages of electronic mai - e Sl M i
viii - Defing tefecommunication, A AR i
4 - Write short answers to any FIVE () questions.  (5x2=10)  _2£,7 =2 @l o (5) § {34
i- Whnat s meant by sclenoid? Te s e Btdv .4
i - Define the sirength of magnetic fieid, Kl gl Ly
i~ Defing is an electron gun. T rj.n kru!!‘ulﬂﬁgl = i1l
iv- Define dighal electronics. 2 WSS
v- What is meant by thermdonic emission? el Ve oM d oy
vi- Define radio active elemants, g g“c';?,?faz.g, i
vii - What is meant by half ife? e dr e S| -wil
vitt - What is meant by nuclear transmutation? P dlr e ﬁ}ﬁiﬂ - Vi1

(&1 3 A.gjr/b o=



(ur \m 5 L ‘o 37 gl 4 L'’z ) Section - 1T (43 -

5 - (a) What is ripple tank. Explain the reflection of water waves (_M&“__ @« tuh £ Q« gy ..mw , Qw e rn\rmw r? () -

with the help of ripple tank. AL §
(b) Find the focal length of a mirror that forms an image Mety g W6 388cme iyl (D)

5.66 cm behind the mirror of an am._mnﬁ@ama at 34.4 cm c\ vy & £ 5.66 cm % L iz W._ ¢\ L
In front of the mirror. Is the mirror concavedeconvex? -/ te i pSet gl o 255

6 - (a) Discuss the main features of parallel 333@%@: ﬁ.@k i a« o7, Leine &) _.:h () -
of resistors. @% -% 0}

(b) Two capacitors of capacitances 6 uF and 12 uF @@v 6uF L 12uF =7, cﬂﬁm\ S A \u«x n (L)
are connected in parallel with a 12 V battery. ez e $E12Ve EpSalvu

pin i o A e iz o

b e S P e

Find the equivalent capacitance of the combination.
Find the charge and the potential difference across

each capacitor.

7 - (a) Write comprehensive note on computer, &g e 4 mﬁm () -
(b) Write the safety measures from radiations. e ale Qrwm._ % mﬁn = Gwﬁm 2 Kol

119-218-77000 D Q\..\ O0-(~ \%



Physics (New Scheme)  Papers 11 (7% gt TTaag dﬁ.ﬁrﬁfl 218 - (II1) Il ¢ (v

Time: 15 Minutes  (Group: II) Objective (5~ g2 1) & 15 s
Marks: 12 Code; T476 12 =

Ll a2 o it & ErarLd Jv e { QI-* g g & £ DHC.B. AR _{-,L{_,';_, oo r s
Kot 8 0fd B e S LTS VLT b i e B e L S i e e

1. 1- Thebasi operations perfarmed by a compuser are - AR RE A 1 L1
non-afthmelic operations ﬁ;ﬁ-&nﬁw Bl arithmelic operaton ,ﬁﬂ.&i« (A}

bothARS L C A (o legicad mf—'" 5 gt '-;,;‘g_jsfjl {Ch
2 AND gale can be formed by using two te Fo M e aF el b e S w20 e

NAND gates i (D) Nomgstes A (C) R gaes oF)T (B
3-  Elctric powar [P) is equal to ‘
1% @) R (©) 1V (5
4~ Five joules of work is needed 10 shit 10 G ofcharge L L F 5 f
from cne place 1o anather the potential diflerencs M L i
batween places is
10 (D) Sv (€]
5- ifareyof light in glass is incident on an air suface o 0F 7

31 an angle greater than the critical angle the ray wil _me. 7 ‘ Moo BA0, B v gon
reflect only  w k% i~ (B @ | refract only =EL i~ (A

ditactandy o5/ b3 i (0 pamally refrack. pfEtially reflect N N
- The relaticrship between v, Fand L of & wave is @0% 28 Penin £ 2 L gl h g -6

/ woT gates ATz ay

e APy a S g
IV (4

J.ﬂfﬁu&iﬂ'ﬂ-ﬁ -4

it e vy ey T

; iR P

ov (B 05w [A)

bne blime, S bl .5

fi=v (B vi=h (&)

T. S ST EE I g PR
nuclear fission £ .32 M 8y
~ bumning of gases = = J 3 2 T )

8- e-Fhikd Shand foe? e SFVE SEm 8
electronic mad  JEu6 58 (B emergency mail K% (A
extermal mail 20 oy entra mall  E e ()

9. The turn rafions of a transformer is 10. 1 means Failadfnk L suit i _a
b s M B
%’5=1T; i ﬁ5=l|:|,Hr ic[ Hsﬂiﬁ &) |§=jﬂEF i)

10~ Hwe double both the cument and voltape in a groull .l wtl £ w 20 220 0 2 W0 DA S 10

whilie keeping fs resislance constant, the powgr 5} Fils Sl iru;.u gu
halves £ b xoid fiE) remain unchanged T F 33002 (&)
auadruples o £ sk s00] (D) doubles 2y arths (C)

1L Rfroctive idex ol gl et R K 11
1,36 (D 138 (C) 1.31 (B} 1.00 §A

12- How does sound travel from iis source to yeur ar? e P FTe Al uinig b -1z

by changes in alr pressure = = f L?.;-F WEikal e (A

by vibrations in wires or stings = =0 LGl B
by eloctromagnete weves e i 5 ()

by infrared waves e Liged AR (D)

120-(TTT)-216-TO000 aﬁj fﬂ" fo=2~| g



Physics (New Scheme)  Paper: 11 (% W It} JFUAE) 218 g {ﬁa %) S
Time: 1:45 Hours (Group: 11) Subjective JE-HI (g [om) 21245 125
Marks: 48 45:@
o ool (2) 0 8 L el o

Section - I Jil

2 = Write short answers to any FIVE (6) questions.  (6x2=10) -#}'}T M,Lﬂ;’ L altr (B) S;& (im" 2

i+ Define diffraction of wave, A
b Define time pariod, .ﬁ'q}’ﬁg,ﬁ,f’i‘ - i
fif - State two uses of ultra sound R PR RO &P
iv - Define intensity of sound s YL o
v« What s meant by "reverberation”? e dr e " A oy
vi- Define conventional current, - EE,JJ TV o Y
vii- State Ohm's law, o S L i
viii - Define specific resistance, @ A ey il

3 = Write short answers to any FIVE (B) questions. w .ﬁ ,;; &Liﬁ?ﬁ-&ﬂr (6) -ﬁ«* dr-3
= What s meant by near point and far point? te e o P iT i o}
il = What (s meant by total internal reflection? T Ap Ve u@ébﬂﬁ' L.-I!’J -1
il = Wrile two uses of lenses. @@ L s £ 1# i
bv- Whal is meant by electric fiekd? * te i e WP iy
v« Daling voll. -ﬁ _&'ﬂd:.:-‘w -y
vi- WWiite two uses of flash dr s &l 4.3@'5" =¥l

vii =  Winide two advaniages of é-mall Aahin L Lol -
viii - What is floppy disk? [._-!'..I:i g e viia
4 - Write short answers to any FIVE (5) questions.  (6x2w10) -2 ¢/ et L =l (6) 4 p 0F -4
i+ WWhat is meant by transformer? fe sl e A} i
ii » State the Lenz's law. .ﬁ' Wb Cermd o & i
iii - What is meani by flucrescant scraen? T alpr ¥ \,l;ﬁ’ drtad il
w - Write bwo uses of cathode ray oscilloscope. - Ml T;_: P P R
v~ Define OR operation and write its Boolean squation. i o By B g PSR
vi= Define fission reaction, -c'.'f i !.r u’ﬂ: s u‘” -vi
vii= Dafine nuclear transmutations. -ﬁ' -d'f Jﬁ?ﬁfé’ﬁ =¥
viil - Write two uses of radio isotopes. o e & AITids i

(2 3 Qy}'ﬂ‘ /o-2-(8



(AL o924 £'SN" 07 1) Section - II (1

5~ (a) Derive the relationship between velocity, frequency S P un L g S dr oo
and wave length of wave. Write a formula relating & Yl FFL de S 13 S i el
velocity of a wave to its time period and wave length. -t c.. g T4 m.mm.. Y. m AL

(b) A ray of light enters from air into Em@ﬁm angle of - m?. Q\: P ﬁxc\ S It s Q. mm.q
incident is 30° . If the refractive @:nmw@_mmm is 1.52 Sy ¥ il e 30° S T
S

then find the angie of refraction 'r". @ S b S TR T 152
6 - (a) What is the difference between conductor ma@:_msa e 07 Wit £ 2ot P

Also give examples. %@ o g &q\ z
(b) The force of repulsion between two indentical Em_:@v 0.8 N o/ J 9 s £ Ao iy &F L 35
Jurn L £, L6 L 01 mak o2 o
&E s § e s

charges is 0.8 N, when the charges are 0.1 m apart.

Find the value cf each charge.

7 - (a) Expalin the phenomena of transmission of light signals FL AV FL Fudss £ 26 S50
through optical fibre. uﬁ >l r“
(b) The activity of a sample of a radio active bismuth i § et & uh1s N

decreased to one-eight of its original activity in 15 days. ﬁ‘fu_ i i rﬁ Y PR o .w o
.f.w - i Y m
Calculate the half life {112) of the sample.

Cyvj-l0- 2718
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